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�� �� ��0
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5�5 �
���������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5B

5�6 ��������� :�
����� �� ���0�� � � � � � � � � � � � � � � � � � � 5C

5�6�5 *�
 "�

�!!�����
 � � � � � � � � � � � � � � � � � � � 5D

*�
 %����������
 � � � � � � � � � � � � � � � � � � � � � � 5D

*�
 "�������
��
 � � � � � � � � � � � � � � � � � � � � � � 6C

5�6�6 *�
 �
������
�
 � � � � � � � � � � � � � � � � � � � � � � 6D

5�E F)�������
 �� 	+
�!�)��
 �� ���0�� � � � � � � � � � � � � � � 6G

5�E�5 *� "�
 ���
� F��
�!����
������ 9 �� ���0�� �� :��
�-

!�
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � EB

�,�
��
�� �� �+���
 � � � � � � � � � � � � � � � � � � � � E5

��������� ��
 "+���
 � � � � � � � � � � � � � � � � � � � � EG

�,



*� ���

����
 ���
 ��
 �+
�!�)��
 ������)��
 � � � � � EH

5�E�6 ����������

 �
���0
�
 ��

 �
� F��
�!�� ���� "�-

����� ��������� � � � � � � � � � � � � � � � � � � � � � � C6

	+
�!�)��
 *�����
 � � � � � � � � � � � � � � � � � � � CE

	+
�!�)��
 :������
 ��

 ��
 �+
�0!�
 '���!�

��

��
 DH

5�C ��
��!�
�
 "���

�
�
 �� "�
�����
�� �!�������� � � � � � � � 7H

5�C�5 *� ������ ��
 '��

 � � � � � � � � � � � � � � � � � � � GB

5�C�6 *� ������ �� %������ � � � � � � � � � � � � � � � � � � � GH

5�D "�
���
��
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � I5

� ���
,���
� 	� '�
������ 	�� �
��
�������� 23

4 �,�������
�� ��	
�.��� 	��� �� �
	.,� 	� �
��������� �
0

�
'
,������� 5 ,� �
���
� ���� !���� ������ �� $������,��� 	�

�
��
�� 	� ����(� 21

6�5 �
���������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � HB

6�6 *� ���0�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � H6

6�6�5 *�
 %����������
 � � � � � � � � � � � � � � � � � � � � � � HE

6�6�6 *�
 "�������
��
 � � � � � � � � � � � � � � � � � � � � � � HD

6�6�E *�
 �
������
�
 � � � � � � � � � � � � � � � � � � � � � � HD

*� ������� �� '��
 ��
�� � � � � � � � � � � � � � � � � � H7

*� ������� �
���!������� � � � � � � � � � � � � � � � � � HI

6�E �)�������
 �� 	+
�!�)��
 �� ���0�� � � � � � � � � � � � � � � 5BB

6�E�5 �)������� 
�� �� ������ �� �� ��

��� � � � � � � � � � 5B5

6�E�6 �)�������
 �
�����!�����
 �� 	+
�!�)��
 *�����
 � � � 5B5

6�C "�
���
��
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 555

6 !����������
� 	� 
*��.�� "*������� --3

,



� �
�	���
�� 	� "��7�.�� ��	�� 	� 
������ �������	����� --8

" �7������� 	� ,#���� 
����
������ / --1

� �
��������
� 	�� ���,���7 - �� 4 -4-

9 ���,*�� ��������� 	�� 
*��.��� "*�������� �
� !��������-49

E�5 �
���������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � 56C

E�6 ��
������
  �!���)�� ��
 �+
�0!�
 ��F)�����

  �
 *�
�����
 567

E�6�5 *� ������� ��
 ����
��
 � � � � � � � � � � � � � � � � � 56G

E�6�6 *� ��������� ��  �J��
 � � � � � � � � � � � � � � � � � 56I

E�6�E ���������
 '�
��
 
�� �� ������� ��  �J��
 � � � � � 5EE

"�
�����
�� :������ 9 ��������� *�
����� �� ����������
5EC

*� ������� �� '��+��
 � � � � � � � � � � � � � � � � � 5ED

������� �� '��+��
 ���� ��������� *�
����� � � � � � 5CB

E�6�C �������
  �!���)��
 �� "�
��
�����
 � � � � � � � � � 5C5

	�
�������
 �� �� ������� �� ���������
-"��������
 � � 5CE

*�F���� �� ���������
 � � � � � � � � � � � � � � � � � � 5CE

*�F���� �� "��������
 � � � � � � � � � � � � � � � � � � 5CG

E�E "����� ��
 =������
 ������ �� �

����� ���
 ���
�-����� � � � � � 5D6

E�E�5 *� ������!���)�� � � � � � � � � � � � � � � � � � � � � � 5D6

E�E�6 	�
�������
 �� ��#�������!� � � � � � � � � � � � � � � � 5DD

E�C "�
���
��
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5DI

� !� ���
,���
� 	�� 
*��.��� !�������� '�� ,�� "��
�'
����
��

!� �� &� -:9

��5 *� ����!��
����
 *� � � � � � � � � � � � � � � � � � � � � � � � 57E

��6 *� 	���!��
����
 K� � � � � � � � � � � � � � � � � � � � � � � 577

,�



+ !� !
�����, "��� -:1

:�5 �

��������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � 57H

:�6 �����
����
 �� *������� 9 ���,�!��� �� �+
�0!� �� ;�
�
 � � � 5GB

:�E #2��� ���
  ������ ���0�� � � � � � � � � � � � � � � � � � � � 5GC

; "*�������� 	��  ��7 	� ����� / ��� ���,*�� ��'������ 	�

��� 	�� %����0���� -88

C�5 �
���������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5GH

C�6 *� ���0�� ���
�!�)�� � � � � � � � � � � � � � � � � � � � � � � 5I5

C�E #
��+
� ��������� �� "�
�������� � � � � � � � � � � � � � � � � 5ID

C�E�5 ���
�
�����
 �� �� !������ � � � � � � � � � � � � � � � 5ID

C�E�6 *�#
��+
� �� ������� � � � � � � � � � � � � � � � � � � � 5IH

�����
�
�����
 �� ������� ��
 ��
����

 �������)��
 � 5H5

*� "�
 ��
 ��
����

  �
 �������)��
 � � � � � � � � � 5HC

C�E�E *� "�
 ������
��)�� 9 	�

���
 ���������
 � � � � � � � � 5HG

	�

���
 ���������
 	�
��0��
 � � � � � � � � � � � � � � � 6B5

C�E�C �
��!����
 ��������� � � � � � � � � � � � � � � � � � � � 6BD

C�E�D #
��+
� "�
�������� � � � � � � � � � � � � � � � � � � � 65E

C�C ������
 *�
�����
 � � � � � � � � � � � � � � � � � � � � � � � � � � 657

C�C�5 ���������

 �� 	�1
����

 ��
 "�
����
 � � � � � � � � 657

C�C�6 �,�!���
 �� ������
 � � � � � � � � � � � � � � � � � � � � 65H

C�C�E "��������
��)��
 ��
 ������
 9 ��
����

 �� %��

���� ��

�� ���
� � � � � � � � � � � � � � � � � � � � � � � � � � � 66B

C�C�C �,�������
 �� �� "�!��
�
�� �� "+���
 9 �� �������

�� �����
�
 � � � � � � � � � � � � � � � � � � � � � � � � 666

C�D *� �������
 %��, �� �����-����
� ��, F���
-�
�
 � � � � � � 66D

C�7 "�
���
��
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 6EC

,��



�
��,���
� ������,� 498

,���



,��



����� ��� �
����

5�5 	����!�
����
 �� ������!�! � � � � � � � � � � � � � � � � � � � 6B

5�6 "����� �� �������
 ��
 �����������
 � � � � � � � � � � � � � � � 65

5�E "�

�������
 �� �� ������ �� �������
 � � � � � � � � � � � � � � 6E

5�C F���
 
�����

����
 �������!�
� ��
�����
�
 � � � � � � � � � � EE

5�D �,�
��
�� ���
 �+��� �� ������� 6 � � � � � � � � � � � � � � � � EC

5�7 "�
�����
 ���,�
��
�� ���
 �+��� �� ������� 3 � � � � � � � � � EG

5�G 	�����!!� �� ����������
 � � � � � � � � � � � � � � � � � � � � CB

5�I '���������
 L�� � � � � � � � � � � � � � � � � � � � � � � � � � � C5

5�H ��
��!���
����
 � � � � � � � � � � � � � � � � � � � � � � � � � � C6

5�5B *� ������!!� %����-	����!�
�
� � � � � � � � � � � � � � � � � CG

5�55 '���������
 ���

�����)�� � � � � � � � � � � � � � � � � � � � � � DB

5�56 '���������
 ������� 
���������)�� � � � � � � � � � � � � � � � � DB

5�5E '���������
 ������� 
��
-�����)�� � � � � � � � � � � � � � � � � � DB

5�5C '���������
 
����-��� � � � � � � � � � � � � � � � � � � � � � � � D5

5�5D '���������
 �� ;��� ���� ���)�����
 ����
��)�� �������� 5�EG � D6
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5�57 ��������
 �� ��+�
 ∆ 9 σ < s � � � � � � � � � � � � � � � � � � DC

5�5G '���������
 �� ;��� � � � � � � � � � � � � � � � � � � � � � � � � DD

5�5I ��������
 �� ��+�
 ∆ 9 σ > s � � � � � � � � � � � � � � � � � � D7

5�5H *� ���

���!����
 �� �!��� � � � � � � � � � � � � � � � � � � � 7B

5�6B '���������
 ��!����
� � � � � � � � � � � � � � � � � � � � � � � 7D

5�65 '���������
 ��!����
� ��

 �� !��0�� �� ?������� � � � � � � 7I

5�66 ��
����
 �� �� ������ ∆1 � � � � � � � � � � � � � � � � � � � � � GC

5�6E ���0�� �� "�88������
 �	 �� � � � � � � � � � � � � � � � � � � � GD

6�5 	����!�
����
 �� ������ 
�����

���� � � � � � � � � � � � � � � � 5BE

6�6 '���������
 �� ;��� � � � � � � � � � � � � � � � � � � � � � � � � 5BH

6�E '���������
 �� ;��� 
��
-�����)�� � � � � � � � � � � � � � � � � 55B

6�C '���������
 �� ;��� 
���������)�� � � � � � � � � � � � � � � � � 555

E�5 *� !������ ��
 
���
��
 � � � � � � � � � � � � � � � � � � � � � 56H

E�6 "�
�����
�� �� �� !������ ��  �J��
 � � � � � � � � � � � � � 5EB

E�E "�
 �� 
�
 ��
�����
�� �� �� !������ ��  �J��
 � � � � � � � 5EB

E�C "�
 ���
�M������ �� ����0�� �����A� � � � � � � � � � � � � � � � 5E6

E�D ������� �� ����� � � � � � � � � � � � � � � � � � � � � � � � � � 5EE

E�7 *���������!� �� ���������
-"��������
 � � � � � � � � � � � � � � 5CC

E�G �����0!� �� ���
�
 !�
)��
�
 � � � � � � � � � � � � � � � � � 5DC

E�I �����0!� �� ���
�
 ����
�
 � � � � � � � � � � � � � � � � � � � � 5DC

E�H ������ ���
�����������
 ��

���� � � � � � � � � � � � � � � � � � 5DH

:�5 N�����
 �� !��0�� �� ;�
�
 � � � � � � � � � � � � � � � � � � � 5G5

:�6 *� !�
� ������+ �����
-O����!����
� � � � � � � � � � � � � � � 5G5

:�E ����!0���
 �� �� ��������� ��  �J��
 � � � � � � � � � � � � � 5G5

:�C =������
 
����� �� �

����� � � � � � � � � � � � � � � � � � � � � 5GE

:�D 	����� ��
 �������
 �
�����
��
 �� !��0�� �� ;�
�
 � � � � � � 5GC
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C�5 	���!��
����
 ���
� ��
����
 �������)�� �
 ��!��
�
��
 
�-


�
�P����
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5IG

C�6 �����
�
�����
 ���
� ��!��
�
�� 
�
�
�P���� ��

 �� ���
 ��!-

���,� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5H6

C�E *� ���
�!0
� �� 
������
����
 9

���� ��
 ������
 �
��0��
 �� t� ��
 ������
 �� cos ωjt �� cos(ωj+

2πn)t 
�
� ��
��
���
� � � � � � � � � � � � � � � � � � � � � � � 6BE

C�C ��
A��� �����
������� �� 
�+�� �� 	�������� � � � � � � � � � � � 65B

C�D �,�!���
 �� 1����
 ��

�-��
 � � � � � � � � � � � � � � � � � � � 66B

C�7 ������
 ��

�-���� �

����
 � �� 1���� C�D � � � � � � � � � � � � 66B

C�G �>��
 �� ����� �� �� ��!���

��
 � � � � � � � � � � � � � � � � � 66C

��' � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 66I

%��, �� !���� � � � � � � � � � � � � � � � � � � � � � � � � � � 66I

C�I ��
����

 ����������������
 � � � � � � � � � � � � � � � � � � � 66I

C�H "������
��
 ����
��
 � � � � � � � � � � � � � � � � � � � � � � � � 66H

��' � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 6EB

%��, �� !���� � � � � � � � � � � � � � � � � � � � � � � � � � � 6EB

C�5B 	�

���
 
��������
 � � � � � � � � � � � � � � � � � � � � � � � � 6EB

C�55 "�
������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 6E5

C�56 "�����
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 6E6

C�5E 	�����!!� �� ���
� � � � � � � � � � � � � � � � � � � � � � � � 6E6

C�5C ������� �� )��������� � � � � � � � � � � � � � � � � � � � � � � 6EE

C�5D 	�����!!� �� ���
 � � � � � � � � � � � � � � � � � � � � � � � � 6EE
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 �� 4���� ��"�� �	 *����#���2� �)777!� ��

&�
	 ��	��&��	�� ��		� ��	�	��� ����� �� ���
�	�	 ��
�� &���
�	��� �����	�$
�� ��		�

��&�	�+�� ��	 ���������� &�
� ��	��
%�� ��� ���
�	�	� �
 ���+�� �� ,�������	 ���-6�!

���������	 ��� ������$
�� 2�������� *���$
����� �� &��	��� &�� ( �����$
����� �� &�����

C∗ = 0�
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�
 �
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�
��� ���
 �+�� ����������� ���)��-

����� �� ���
�
��� �� ������ 
�����

����� "���� ��!���� ���)�������
 �
� ��-
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�� ��� �� ���� )�� �� ������� � �
 ��
��!�
� 
�������� � ����� �� ��

!�

��� 9

rt+1 + (1 − δ)pt+1 > pt. .5�C/
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� �������� 
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� )�� �� ���, ���
��!��� ��
 �����������
 �
� �
-

������� � ����� ��
 ��������
��
� �� !�
��� ����
 )�� ����� �+����0
� �!���)��

)�� ��
 �����������
 ����������
� �� ��

�!!����
 ���
�
�� �� 
� 
�������
�

��
 �����
��� "���
��
�� �� ���� �� ���!��

������� �� ����

�� ���� 
������

�
 ����
 �� �������� �����-�� �
� ���

���� 
��
 ���!� �� !�

��� � �� �������


����
�� �� �� ��

��� �� ����� �
��+
� )�� �� ������!!� ��
 �����������
� � ��

���� t� ���� 
� �������� 
��
 �� ���!� 9

max
Ct+1≥C∗,Lt∈[0,L∗]

E
t

[
u
(
Cw
t+1

)
+ v (L∗ − Lt)

]
, .5�D/


��� Mt+1 = pt+1

(
Cw
t+1 − C∗) = wtLt. .5�7/

*�
 �������
��
 �����
� ����
 A��� �����
�
���
 ��� ��
 �
�)��
��
 ����
-


�
��
 ��
��,�
 9 Cw
t+1 = u−1 [k − v (L∗ − Lt)] �� ��
�� v′(L∗ − Lt)/u

′ (Cw
t+1

)
�� �� 
����� k�

	� 
�!����, !��0��
 ��
�
� �� 
�������� ��

�� ��� ��
 �)�����

 .5�D/

�� .5�7/ ��!!� ���
� �� ������� *� !��0�� �
� ����
 �
�������� ��!!� �����-

��
� �
� ���
�!�� ��

 ��)����� ��
 ���
�
 ����
� ���, �������
� ���������
�

����
� �� ���!�0�� .2��
�

�/ �� ��

�!!�
� ��

 �� ���,�0!� .�������

�/�

*� 2�
��1�����
 ���
� ����� !�����
����
 .���� " '�����	�
�� ����������/ �
�

6� ��� ��2
���	� ���	 '��������� ���� ������"� 4�
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 ����, ��
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� �� ���!��

����
 ���
������ ��
 �+����0
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����1)��
 
�� �� ����
������ �� �� 
�������� ��

!�����
 ��

 �
 ����� ���)������� ��
���� �+
�!�)��� )�� ��
�� 
�M
�!!�
�


�!��� ���� A��� ������ �� ��R�
 �
��+��)���

*�������� �� :��
�!�
� .5HID�/ �����
� ��

� �
 !��0�� � ��
������

 �!-

���)���
 ���� ������ ���!����
�� �� �+
�!�)��
 �+���)��
 �� ��������)��
 ��

����� �� �������
�� ���� �� ���
�
� ��
 ��

�!!�����
�

 ��
 ���

 ����
��
� ������� ������ �� ���������� �� ?������� ���� ���,

���
�

 9 �� ���!�0��� ���
��� ��� '�����
 �� ?������� .5HHB/� �
� )������

���!�� �� ����
��� ��, �����)��
 ��
� �
� ���� ����2�� ��
 !��0��
 � ��-


������

 �!���)���
 ��
���
�
� �� ��
����� ��
 �+���
 .��!
 .5HI7//� �


�>��� ��

 ��
 !��0��
� �
� ������� �)������ � �
� ��
������
� ��
��
 )��

�� !��0�� �� ?������� � �
� �
�����������
 �
 ���!�
 �� �+���
 �����
� *�

���,�0!� ��>���
�� ���� �� !��0�� � ��
������

 �!���)���
 �
� )�� 
��


������
�
 �+����0
�
� ��
 ����, �������
� 
��
 ���!� !�
������ �� �� �������


�
� ��!��0��!�
� ��

����
� *� !��0�� �� ?������� ���!�� ������
�� ��

�

�
� ���!������
 
�!��� �� �� �+
�!�)�� ������!������
 �� ������� ��

�
 
���
� θt ≡ wt/pt+1� �� ������� ������� �� ����������� � �� ���� � ��

3� �����#�� ����
�� �� ����&�	�+�� �� ��2#�������	� �� �� '���	��� ��
	���	� ��� ��&�	����	��

�%��� ������� �	 ������ �)77�!!�

8� ��		� ��	��&��	�	��� �� 	����� �� &�
%��� ������	 ��	 
� &�
 ��
��%� ��� �	 ��	 �
�	�
	

%����� ���� �� ����� ��� ���+��� ( 2�����	���� �����$
��� �9 wt/pt+1 ��&�����	� �� �/�	

�� &�
%��� ������	 ��
� 
�
�� �� ( �� ��	� 	� :� ��&������ ��������� ��		� �"&��������

��		� �����%� �	��	 '��	��
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�� ���
� 
������
 �
�������� 
��� �

���� ��� �� ��
�����
 θt > θ ����

θ =
lim
Lt→0

v′ (L∗ − Lt)

lim
Cw

t+1→C∗u
′ (Cw

t+1

) , .5�G/

)�� �
� �� ��
�� �
 Lt = 0 �� ���
�)��
�� �����
��
��
� � �
 
����� ���������


���

N
 ���� ���+����0
� 
����
�� 9

<*'
�(.�� -�4 θ < 1

�� �� ����
������ �
� �� �� ���!� yt = Lt� �S yt ��
��
� �� 
����� �� ������-

���
� ��
 
������
 �� ��
 ���, 
�
� ����, � ���)������� �� ���+����0
� 6 �����
��
�

� �� )�� :��� .5HGE/ � ������ �� ��
 �� ��!���
�
� *��������!�
�� ���� 
��
�-

1� )�� ���
)�� ��
 ���, 
�
� 
�����

����
� ���)������� )�� ������� ��>0�� ��

���)������� �������)���

�� �
� 
������
 �
�������� �,�
��� �� ����, ����!�� �� ����������� 
��� �
�

��

�!!����
 Cw
t+1(θt) �� �
� �>�� �� ������� Lt(θt) )�� 
���
��
� �� �������


��������� �
��� �� %�� �� �� ������� ��
 ���, 9

v′(L∗ − Lt(θt))

u′ (Cw
t+1(θt)

) = θt. .5�I/

*� ������)�� 5�5 ����
��� �� ��
��

��
 )�� ����0���

�
 ������
� .5�I/ ��

� )�� �� ��
����
�� ���������� Cw
t+1(θt)−C∗ = θtLt(θt)�

���
 �
 �����
� ��
 
��
�������

 ����������
� �
 �����!�
� �� ��������
 ��

������!�! ��

������� � �
� ��������
 �� ������� ������� 9

∂Lt

∂θt
(θt) = −u′ (Cw

t+1(θt)
)

+ (Cw
t+1(θt) − C∗)u′′ (Cw

t+1(θt)
)

∆
,

∂Cw
t+1

∂θt
(θt) =

Lt(θt)v
′′(L∗ − Lt(θt)) − v′(L∗ − Lt(θt))

∆
> 0,

����

∆ = v′′(L∗ − Lt(θt)) + (θt)
2 u′′ (Cw

t+1(θt)
)

< 0.

Q 5H Q



������������ �����
��������
� �������
�

θ

L∗

a∗

Ct+1

Ct+1(θ
∗)

θ∗

L∗ − L(θ∗) L∗ − Lt

������ 5�59 	����!�
����
 �� ������!�!

	����0
 ���+����0
� 5� ���>�� 
�� �� ��

�!!����
 ������ �
� ��
���� ����


)�� ����� 
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 �������
 ���!�0�� �� 
���
�� ��

�� ��
����
 ��������� �

��
��
�� �� �� ��

�!!����
� *��
)�� �� ������� ��

�� ��
����
 ���>�� �� ������� L′
t (θt) �
� ��
������ �� ���
�� �� �� ��
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�����
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� ���
� � ���� )�� 
� �� ���, �� �� ��

�!!����
 ���

�

��������!�
� � ����� �� ���
��� ��
 ���
�
 ��
� ������� ���� ��!�
�� �� ���
��
�

���
� � ���� ���������� �����
����� �� ������� �������!�
� �� ���,���

��
 ��

Lt (θt) )�� ���� �
� ����1� 
� �� 
����!�
� 
� 9

R2

(
Cw
t+1

) ≡ −Cw
t+1u

′′ (Cw
t+1

)
u′ (Cw

t+1

) <
Cw
t+1(θt)

Cw
t+1(θt) − C∗ , .5�H/

�S R2() ��
��
� �� ����� �� ��
������ �� �� ��
����
 ��������� �� �� ��

�!!�-

���
� )�� 
��
�����0�� ��

 �
 ����� ���
���������� ��!!� �� ����� ������
��


�������� ���� �� ��
)�� ��

� ������ ���M���
� ��#���J-������

*� ���!� � ������ �� ���
������� .5�H/ �
� ���
 ���
� )�� 1 �� �����&� ��

+∞ � 1 ���
)�� θt ����� �
��� θ �� +∞� �
 ������������ ���>�� �� ������� 
���
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��������
� �������
�

������!�
� ����

�
�� 
� θt �
� 
�M
�!!�
� ������ �� θ� �
 �>�� 9

dCω
t+1

dLt
=

v′(L∗ − Lt(θt)) − Lt(θt)v
′′(L∗ − Lt(θt))

u′ (Cw
t+1(θt)

)
+ Cw

t+1(θt)u
′′ (Cw

t+1(θt)
) θt→θ−→ θ =

∂Cw
t+1

∂θt

(
θ
)

∂Lt

∂θt

(
θ
) .

"�!!� θ ≥ 0 �� ∂Cw
t+1/∂θt ≥ 0� �� ��
���
��
 ������� �������!�
�� ���

��

�)��
�� 
� �
 ���� ���+����0
� 9

<*'
�(.�� -�9 R2

(
Cw
t+1

)
��	 ��� $
��	�
� �
� ����
�����	� �
�� 	
�	 Cw

t+1 ≥
0%


���
 ���, ��
 
�
� 
�
��������
 ���!������ ����
���
 ��� ��
 ���, ������)��


�� �� 1���� 5�6�

θt

Cω
t+1

α2 < 1

Cω
t+1

L∗L∗ Lt Lt

θt

a∗a∗

α2 > 1

θ̄
θ̄

������ 5�69 "����� �� �������
 ��
 �����������
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 �� ���!��� ��
� �� ��!��� α2 �� R2

(
Cw
t+1

)
���
)�� θt ��
� ���
 ���
1
�

�
� �
�������� � 1� *��>�� �� ������� ����� ����
 �� ��R�
 !�
���
� ����

�
��

���� �� ������� ������� ��
 2��
�
 �� "��� �����
��
� �� ��
 �S ��
 �>��
 ��


��
�������
 �
�����!������� ��!�
�
� ������� ��
 �>��
 �����

�� *� ����, ��


��

�!!����

 �� �>��
 �� ������� ����!���
 ���
)�� θt ����� �
��� θ �� ���
1
�

-� :� �� ��'+�� ���� ����� $
��� �� '��� &�� �� �
�	�� ( ����	��&��	�	��� �� 	����� ��

2�����	���� �����$
��� �
 ���+��� ��� �� ���&����� ���"&����
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�

������ ����
 �
� ������ ����

�
��� )���
 ������� ������ �� �������
� )�� 
���


���� Γ9

Γ =
{(

Lt (θt) ,Cw
t+1 (θt)

) ∈ [
0,L

[× [C∗, + ∞[ | θt ∈
[
θ, + ∞[}

.

*� 
������
 �� ������!!� �� 2��
� ����������� �

����� � �
 
������ wt

�� �
 
����� �� ���, pt+1 �
� ����
 ��

�� ��� ���
���
�����
 �� �� ������ ��

������ �� �� �� ������ �� �������
�

	�

 �� ��
 �S α2 �
� 
�������� � 1� �� �,�
�� �
 θ∗ �
�)�� ��� )��

∂Lt

∂θt
(θt) > 0 ∀θt ∈

[
θ,θ∗

[
,

∂Lt

∂θt
(θ∗) = 0,

∂Lt

∂θt
(θt) < 0 ∀θt > θ∗.

#�

�� �� ������ �� �������
 �
� �
�!����� �� 
��
 �����

 ��

 �� 
�����


��

����� � ������� ��
 �)�������
 �
�����!�����
 )�� ���
� ����� ���������
-

��)�� )�� ���!�� ������
�� ��
 L��������

 �,���)���
 ��� �� ��!�����!�
�

��
 �����������
� "���� �
�!������� ���
� �� ���� )����-���� �� θ∗� ��
 �>��


����
� ��!�
�
� ��
 �>��
 �� 
��
�������
� �
� ��

�)��
�� �
� )��� ����

������

 
�����, 1,�
 �� ���>�� �� ������� �����
��
��
� ���, 
�����, ��

��

�!!����
 ������ .)�� 
�
� ��
��
��
 �� ���
� ���
L�,��
/� �
 ����
�
��

�� ���,����������
 ���
 !���
�
!� �� ������
����
 ��
 ����, ��
 ���
�
� �
 
�

���� ��
� �����!�
�� �� �+
�!�)�� �
 ���� �

����� � ��
 ��
�����

 �
������


��

��
�

*� ��
�����
 �� ���!��� ����� .5�I/ ���� 
� ��������� �
 �
�����
� �� ��
����
��

�� ������ 9

V (Lt) = U
(
Cw
t+1

)
, .5�5B/

����
V (Lt) = Ltv

′ (L∗ − Lt) ��

U
(
Cw
t+1

)
= (Cw

t+1 − C∗)u′ (Cw
t+1

)
.

.5�55/
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�

*� ������ ���>�� �
� ��
� ��1
�� ��!!� �� ������ �� �� ��
����
 9

Lt = V −1 ◦ U
(
Cw
t+1

) ≡ γ
(
Cw
t+1

)
. .5�56/

	�

 �� ��
 �S R2

(
Cw
t+1

)
�
� ���2���
 �
�������� � 1� ����� ��
����
 �
�

!�
���
� �� �
 ���� ���
���
�� ���� ��1
�� �� �+
�!�)�� �
 ���� 9

Cw
t+1 = γ−1 (Lt) ≡ χ (Lt) . .5�5E/

*� 1���� 5�E !�
��� ��!!�
� �� ������ �����
�
������ �� γ(Ct+1) ����

A��� ������� �� �����
 �� U(Ct+1) �� V (Lt)� N
 ���� ��� )�� ���
�!������� ��

Ct+1

Lt

U(Ct+1)

V (Lt)

������ 5�E9 "�

�������
 �� �� ������ �� �������
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� �+����0
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���
� ��
 ��
 
��
�����
 ����
� "��
��

��!!� �� !�
��� �� 
�����
 5�E�5� ����� ���������
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�����!������� �

����� � �� ��

�!!����
 Cc
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pt (C
c
t + Kt − (1 − δ)Kt−1) + M c

t+1 = M c
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Cc
t = (1 − β)

(
rt
pt

+ 1 − δ

)
Kt−1,

Kt = β

(
rt
pt

+ 1 − δ

)
Kt−1.
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Yt = F (Kt−1,Lt).
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ρt ≡ rt
pt

= F ′
K(Kt−1,Lt) = f ′(kt),

ωt ≡ wt

pt
= F ′

L(Kt−1,Lt) = f(kt) − ktf
′(kt),

.5�5D/
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<*'
�(.�� -�; f(kt) ��	��$��	 ��� �
���	�
�� �
+,-(- �

. f(0) = 0,

. f ′(0) = +∞, lim
+∞

f ′(.) = 0, �	

. f”(.) < 0.

"�!!� �� 
���� �� �� !�
����� �� ���
 �� !��

 ���
�� ��!���!�
������

�
��� ��
 �������
 �� ���������
 2��� �
 �@�� �����!�
�
� ��

 ������� ��
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1

σ (kt)
=

∂ ln (ωt/ρt)

∂ ln (kt)
= εω (kt) − ερ (kt) . .5�57/

�
 ������ ������ ��

� 9

σ (kt) = − ωtρt
ktf (kt) f ′′ (kt)

. .5�5G/

���S ���
 ������ 9

εω (kt) =
∂ ln ωt
∂ ln kt

=
s(kt)

σ(kt)
,

ερ (kt) =
∂ ln ρt
∂ ln kt

= − ω(kt)

f(kt)σ(kt)
, .5�5I/
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F (Kt−1,Lt) = F (Kt−1,Kt−1/k̄)

= Kt−1

k̄
F (k̄,1)

≡ Kt−1

a
,

.5�5H/
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Ct + Kt − (1 − δ) Kt−1 = Yt + C∗ = F (Kt−1,Lt) + C∗. .5�6B/
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ωt (kt) Lt =
M

pt
= Ct, .5�65/
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⎧⎨⎩ U(F (Kt,Lt+1) + C∗ − Kt+1 + (1 − δ) Kt) = V (Lt) ,

Kt = (1 − δ + ρt) Kt−1

. .5�66/
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U (Yt+1 + C∗ − aYt+2 + a (1 − δ)Yt+1) = V (Yt/b) . .5�6E/

#1
 �� ���
�
��� ��

 �
 ���!��� ��!�
 ��
 ��
�����
 ��
���
�
� ��
 �+-


�!�)��
 �
���!�

��

����
� �
 
�!���1� �� !��0�� �
 
� ��
�����
�
� � �
�

���
�!�� !�
�������

Q 6H Q



������������ �����
��������
� �������
�


���
 
� ��� ����� �������� �������	� � �� ������ ��

�	�������

*� !��0�� ��������� ��� :��
�!�
� ��

 ��������� �� 5HID 4N
 �
��-

��
��
 "�!�������� '�
�
�

 "+���
4 �� �����)�� ��
 �����
 !����!���)��


������� ��
 
+
�0!�
 �+
�!�)��
 � �
� ��!�

��
 �� ��
 ���
� ���
�!��

!�
������ ������
�� ��� ��� *����
���� ��
 
+
�0!�
 �+
�!�)��
 �
���!�
-


��

��
 �
� )�� ������� �� ����
 ���������
 �������
 ���� A��� �����
�� �
��+��-

)��!�
� ��� ������� �� �� ��
����
 �� ���

����
� *� ���
�
� !��0�� ��!�����

���, 
�����
 �� �+
�!�)��
 9 ��
 ��!�����!�
�
 �������
� ��
 �����������


�� ������!������
 �� ������� ��� ��
 ��������
��
� ��!�
�� �� 
+
�0!� � �
�

��!�

��
 ���� 
� ����� �
 ���!�
�
� �� ������� �� !��0��� �� )�� �
� ����
�

�
 ��
�
� a = 0� *� 
��� !�+�
 ������� ��

 �� ��
 �
� ���������
 
������-

!�
� ��
����� �� ���
�� �
� )�� �� 
���( �� ������� ��
�� �����!�
� ���
 8����

N
 �����
� ����
 �� 
�������
 )���
 ������ ������ �
 ��

�����
� �
� ���
�-

!�� ���� �
� ����
������ ��!��0
� Yt = bLt� 	�

 �� ������ ��
 L��������




�
��������
 ���!����� 
�
� �
��0��!�
� �,���)���
 ��� �� ��!�����!�
� ��


�����������
� *� !��0�� ��

� ����
� �
� �)������
� �� !��0�� �� :��
�!�
�

�� ���� ����� 
� �+
�!�)�� ���������
�� ��� ���)�����
 9

.U (Yt+1 + C∗) = V (Yt/b) . .5�6C/
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∂ (γ ◦ γ)

∂Y
(0) = γ′(γ(0))γ′(0) = [γ′ (0)]
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R2(Y )
Y

Y + C∗ > 1 + b(1 + R1(Y )), .5�67/

�S

R1(Y ) ≡ −Y/bv′′(L∗ − Y/b)

v′(L∗ − Y/b)
. .5�6G/
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1 ≺ 2 ≺ 4 ≺ . . . 2k ≺ . . .

. . . 2k+1.(2l + 1) ≺ 2k+1.(2l − 1) ≺ . . . ≺ 2k+1.5 ≺ 2k+1.3 ≺ . . .

. . . 2k.(2l + 1) ≺ 2k.(2l − 1) ≺ . . . ≺ 2k.5 ≺ 2k.3 ≺ . . .

. . . . . .

. . . 2.(2l + 1) ≺ 2.(2l − 1) ≺ . . . ≺ 2.5 ≺ 2.3 ≺ . . .

. . . (2l + 1) ≺ (2l − 1) ≺ . . . ≺ 5 ≺ 3.
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(|f ′|−1/2

)
.

.5�6H/

�
 �>��� �� �����0!� 
����
�� �V � ��
��� .5HGI/ ����� �� 
�������� ��
 �+���


� �� 
��������� �� �� ������� ���J��8��

��

 (�
�.�� -�4 /
�	 f : [a,b] → [a,b] ��� �������	�
� 	�
�� $
�� �
�	��7���	

��*����	����� 	���� ��� Sf(x) < 0 �
�	 	
�	 x ∈ [a,b]� -�
��

1� �
�������	�
� f ����	 �� ���� ��� 
���	� ����
����� $��������	 �	����%

�
��	 " ����% ��� 
���	� ����
����� P 	���� ��� |Df(p)| ≤ 1 �
�� 	
�	

p ∈ P

�� �� �
��	 ���	���� �� f ��	 �		���  ��� P �

*� ������ �� �� �����0!� �
� ����
�� ��

 "����� �� ��(!�

 .5HIB/ ��� N


���� ��
� )��� !����� �� 
�!������� �� !��0��� �� �
� ��

���� �� ����� ��-

����&��� ��
 �+���
 
�����
 �� �������
 ����������!�
� ������
� �
� ��2�����


�����
� A��� 
������� �
� )�� ��
 ��
�����
 ����
�
 ��
���
�
� ��
 �+
�!�)��


�
 �!�
�� ���
� � ���� ��

 �� 
�

 �
���
� �� ��������!�
� �� ��!�
� �
�

����

� � ����� �����)�� �
� �����!�
� �������� ��

 ��������� �� ��

�
�� �

�
�������� ��
 ���
�!0
�
 �������
��

��� � �� ����� �� ���+����0
� ���
��-

�������

 ��������
� �
 �>��� 
� �
 �+��� 
����� �,�
�� ���� �� �+
�!�)�� �


�!�
�� ����� �� �� A��� ��
���� ��� ��
 ���
�
 �� �
L��
��� ����
 �
���������

�

�6� *� ��%�� �� �����	 �	 =�;���� ������+�� �� ��� ��
�� '���	��� 
�������� �
� [−1,1]

����		��	 
� ��"��
� �� 0� ���� �� 2���������	��� �� �� &��
%� �� &��� &�� �� &����+��

&��	��
�����

Q EI Q



������������ �����
��������
� �������
�

!� ��������
� ���� 	�� 	*�������� �(�
������

*� ���������� �������
� � !�
 �
 �����
�� �� �������
 �,�
��
� �
��� ����-

�������
 �� ���2�������
 �������)��
 �
�����
��
 
�
 ����
����
 �� �� �����

�� ��
������ �� �� ��
����
 �� ���

����
�  ��
 ����

 ���� � ���
�
� )��� �

!�
��� )�� �� ����� �� ��
������ ���!�
��� �� !��0�� ���
�
�� ��
 �+
�-

!�)��
 �� ����������� ����

�
�� �� 1
�� ��� ��!������ ���� ������
�
 �����


�� ������
 �� ����!0���� ��
 �+
�!�)��
 ��������)��
� *����!�
�����
 ��

��!���,��� )�� ��
���� �� �� ��������
 ���
 ��
 ����!0���
 �� !��0�� ����

A��� ��
����
�� �������!�
� � ������ ���
 ������!!� ������ ������!!� ��

����������
 )�� �����
�
�� ��
 �

�!���
 ��!���
 �
�����
�
 �
 ��
����
 ��


������
 ��
 ����!0���
� #1
 �� ������ �� ������!!�� �
 �� ����
�� ��

 ��


���� �� ���,��
� �
� 
����1�����
 ���������0�� ���� ��
 ��
����

 ���������� ��

��
 ������
��
 �������� ��

��
�� ���� �� ��
)�� ��."��#/ 9

u(Ct) =
C1−α
t
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1+β

1 + β
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⎛⎝ dKt

dkt+1
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⎡⎢⎣ 1 −K
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∣∣εR∣∣
k

K

εχ − 1

εω − 1
−εχ − ∣∣εR∣∣

εω − 1

⎤⎥⎦
⎛⎝ dKt−1

dkt
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T = T1 − 1

εω − 1
(εχ − 1) ,

Dét = D1 +

∣∣εR∣∣− 1

εω − 1
(εχ − 1) ,
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� ���	���	�%�� ��

� %
 $
� ��� &���	� �� ���������� ��%�����	 &�
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Yit = F
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K∗
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∗
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)
,
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i(t−1) = A
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Yt = A(Kt−1,Lt)F (Kt−1,Lt) = A(Kt−1,Lt)Ltf(kt−1),
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��,�� 9⎧⎨⎩ Ω(kt,Kt−1) = AΨ (kt)
(
Kt−1

kt

)ν
ω (kt) ,

R (kt,Kt−1) = 1 − δ + AΨ (kt)
(
Kt−1

kt

)ν
ρ (kt) ,

�S ��
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 �� ω(.) �� ρ(.) 
�
� ��

��
 ��� . 5�5D/ ��

Ψ (kt) = A (kt,1) .
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Kt

kt
= χ

(
Kt−1

kt

)
,

Kt = (1 − δ + ρt) Kt−1 ≡ R (Kt−1,kt) Kt−1
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T = 1 + D1 + Λ − εχ − 1

εΩ
k − 1

,

D = D1ε
χ,
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Λ =
εΩ
k εRK − εΩ

KεRk
εΩ
k − 1

.
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−u′(Cw
t ) + γu′(Cw

t+1) − µ1 = 0

−u′(Cw
t )

pt
+ γ

u′(Cw
t+1)

pt+1
− µ2 − µ3

pt
= 0

wtu
′(Cw

t ) − γv′() + µ3wt = 0

µ1K
w
t+1 = 0

µ2M
w
t+1 = 0

µ3

(
Mw

t+1

pt
− wtLt

)
= 0
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u′(Cw
t ) ≥ γu′(Cw

t+1)(rt + 1 − δ), (Kw
t+1 ≥ 0) .#�5/

wtu
′(Cw

t ) ≥ γv′(L∗ − Lt), (Mw
t+1 ≥ 0) .#�6/

wt
pt+1

pt
u′(Cw

t+1) ≤ v′(L∗ − Lt),

(
Mw

t+1

pt
− wtLt > 0

)
.#�E/
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Cc
t+1 ≥ β(rt+1 + 1 − δ)Cc

t , (Kc
t+1 ≥ 0) .#�C/

Cc
t+1 ≥ β

pt
pt+1

Cc
t , (M c

t+1 ≥ 0) .#�D/
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wt
pt + 1

pt
u′(Cw

t+1) = v′(L∗ − Lt), .#�7/

Cc
t+1 = β(rt+1 + 1 − δ)Cc

t , .#�G/

Q IG Q
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pt+1

pt
Cw
t+1 = wtLt, .#�I/

Cc
t + Kc

t+1 = (rt+1 + 1 − δ)Kc
t .#�H/
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Kc
t+1 = β(rt + 1 − δ)Kc

t . .#�5B/

Q II Q
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 �>�� �� ������� ����!��� Lt .�� �� 
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��� ��� �� !�
�0�� �)������
��� ��

��
������� �� �������� *�
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max
Ca
t+1

a
− Lb

t

b


���

⎧⎨⎩ M ≤ wtLt

Pt+1Ct+1 ≤ M

.6�5/

���� 0 < a < 1 �� b > 1�

*� ��
�����
 �� ���!��� ����� �
� ��

�� ��� �������
����
 �� ���, !����
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 �� �� ������� ��
 ���, 9

Lb−1
t

Ca−1
t+1

=
wt

Pt+1
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Ct+1 = (Lt)
θ , .6�6/

���� θ = b/a > 1�

0� �� &���	 � ��� ��&����	���� ��&��	��	��� �� &��	��
���� �� �� $
� �������� ��� &��#
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�	���� ���	 ����� ��	��&��	���

����� ��� 1
�	
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�	 	����� 4 ����%����� �� &�
	 ���	��� $
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���+��� ( �2��	� ��&�����	�	�'� &�
%��	 <	�� ��	��
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� ���	�"	� �� 2�����	����

�����$
��� ��
� ����&�	�+�� ����	�
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Kt = (1 − δ + ρt) Kt−1, .6�E/
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yt = F (xjt)j∈[0,1] =

(∫ 1

0

x
σ−1

σ
jt dj

) σ
σ−1
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max
(yt,xt)∈R+×R

[0,1]
+

pyt yt −
∫ 1

0

pjtxjtdj.
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E (yt) ≡ min
xjt∈R

[0,1]
+

(∫ 1

0
pjtxjtdj

)

���

(∫ 1

0
x

σ−1
σ

jt dj
) σ

σ−1 ≥ yt.

N
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 ������ �� ��!�
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���
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����
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��� 9

x∗
jt =

[
pjt
Pt

]−σ
yt, .6�D/

����

Pt =

(∫ 1

0

(
p∗jt

)1−σ
dj

) 1
1−σ

.
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E (yt) ≡
∫ 1

0

pjtx
∗
jtdj = Ptyt.

��� ��

�)��
�� �� 
����� ����!�� �� ���������
� ���� ���)�� 1�!� ��


������ 1
�� �
� ��
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y∗
t ∈ arg max

yt

pyt yt − Ptyt.

"� ������!!� 
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� 
������
 ��
����� )�� 
� pyt = Pt� 	�
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�
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����� ������ �� ���������
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Yt ≡
∫ 1

0

yitdi,

�
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� ��� ���)������� �� !����� �� ���
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pjt (xjt) = Pt

(
xjt
yt

)− 1
σ

= Pt

(
xhjt + (nj − 1) xjt

yt

)− 1
σ

. .6�7/
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�� h �� 
������ j �
� �>������ � ������
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����
 �� ������� Lh
jt �� �� ������� Kh

j(t−1)
� 
���
 �
� ����
������ ��
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 �

����� � �
 ��V� 1,� φ �,���!� �
 ���!�
 ���
���
 ���
��� 9

xhjt = G
(
Kh
j(t−1),L

h
jt

)
=
(
Kh
j(t−1)

)α (
Lh
jt

)1−α − φ.
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Max“
Kh

j(t−1)
,Lh

jt

”
∈R+×R+

pjt
(
xhjt + (nj − 1)xjt

)
G
(
Kh
j(t−1),L

h
jt

)− wtL
h
jt − rtK

h
j(t−1)

8� :� � ��&����	����	 �
&&��� $
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CT (xt) = Min
xt

wtL
h
jt + rtK

h
j(t−1)

s.c. G
(
Kh
j(t−1),L

h
jt

)
=

(
Kh
j(t−1)

)α (
Lh
jt

)1−α − φ ≥ xt

*�
 ��
�����

 �� ���!��� ������ �

�����
 � �� ��
����
�� �� ���������
�

���!����
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⎧⎪⎨⎪⎩
(
Kh
j(t−1)

)∗
=
(

1−α
α

rt
wt

)α−1

(xt + φ)(
Lh
jt

)∗
=
(

1−α
α

rt
wt

)α
(xt + φ)

.6�G/
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CT (xt) =
wt

1 − α

(
1 − α

α

rt
wt

)α

(xt + φ)

*� ���,�0!� ����� ��
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 �� �����!�
����
 �� 
����� ����!�� ��
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(
xhjt

)∗ ∈ arg max
xt∈R+

{pjt (xt + (nj − 1) xjt) xt − CT (xt)}

*� ��
�����
 �� ���!��� ����� 
������ 9

pjt

[
1 +

∂pjt
∂xt

xt
pjt

]
= Cm (xt) =

wt

1 − α

(
1 − α

α

rt
wt

)α

.6�I/

�
 ��!��
�
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ρt ≡ rt
Pt

= α

[
1 − 1

Ntσ

]
kα−1
t−1

ωt ≡ wt

Pt
= (1 − α)

[
1 − 1

Ntσ

]
kαt−1

.6�H/

�S kt−1 �����
�
�� �� ����� �������-������� � �� ������� t�

#1
 ��������� ����������� �
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λ = 1 − 1

σNt
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Πt

Pt
=

Kα
t−1L

1−α
t

Nt

{
1 − α

[
1 − 1

Ntσ

]
− (1 − α)

[
1 − 1

Ntσ

]}
− φ = 0

�� )�� ����
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�
 ���� � 9

Nt =

√
Kα
t−1L

1−α
t

Φσ

�� 1
���!�
�� ���
���
� �� ������� �� !���� �
� ��

� ��� 9

λ (Kt−1,Lt) = 1 −
√

Φ

σKα
t−1L

1−α
t

.6�5B/
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ω (Kt−1,Lt)Lt =
M

Pt
= Ct = (Lt−1)

θ .6�55/
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Zt = Kα
t−1L

1−α
t .6�56/
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Kt = (1 − δ + ρt) Kt−1 = (1 − δ) Kt−1 + αλ(Zt)Zt

(1 − α)λ(Zt+1)Zt+1 =

((
Kα

t−1

Zt

) 1
α−1
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K =

(
1 − δ + αλ (Z)

Z

K

)
K ⇐⇒ λ (Z)Z =

δ

α
K,

(1 − α)λ (Z) Z =

((
Kα

Z

) 1
α−1

)θ
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. +� ����	� ���  ����� �	���	����	 �
��	� � ζ∗% �
���� ���

ζ∗ = (B (1 − 2A))
1
A

(
2A

2A − 1

)2A

,

� ��

A =
(1 − α) (1 − θ)

1 − α(1 − θ)
��� B =

δ

α

(
α

δ(1 − α)

) 1 − α

1 − α(1 − εχ)
,

	���� ���

. �� �
0 � ����� �	�	 �	�	�
������ �
�� ζ > ζ∗@

. �� 0 � ����	����	 �� �	�	 �	�	�
������ �
�� (K (ζ∗) ,Z (ζ∗))@

. �� 0 � ���� �	�	� �	�	�
������� �
�� 0 ≤ ζ < ζ∗% (K1 (ζ∗) ,Z1 (ζ∗))

�	 (K2 (ζ∗) ,Z2 (ζ∗)) � �� �

K1 (ζ) < K2 (ζ) , �	

Z1 (ζ) < Z2 (ζ) .

Q 5B6 Q



������������ 
� �������
��
 �������������
 � �� �������

Z1 Z(ζ∗) Z2 B1/A

ζ = ζ∗

ζ < ζ∗

ζ = 0
S(Z)

B
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L =

[
δ
1 − α

α
K

]1

θ
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⎤⎦ =

⎡⎢⎣ 1 − δ δ
(
1 + ελ

) K

Z
α

α − 1

Z

K

θ

1 + ελ
θ

(1 − α) (1 + ελ)

⎤⎥⎦
⎡⎣ dKt−1

dZt

⎤⎦ , .6�5C/
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λ
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 ζ = φ/σ� �
 � 9

ελ =
1

2

√
ζ

Z

1 −
√

ζ

Z

. .6�5D/
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Tr = 1 − δ +
θ

(ελ + 1) (1 − α)

Det =
θ

(ελ + 1) (1 − α)

[
1 − δ + δα

(
ελ + 1

)]
*��,���

��


(
ελ + 1

)
���
� �� 
���� )�� ����
�� ��
 ����!0���
 φ �� σ�

�
 ���� ��

������ )��� ���� �
 
����� ��

� ��
 �����
 ����!0���
� ��


���, ���
�0��
 �)�����

 ��1
�

�
� �
� ������ ����!����� ����
��
� ��

����!0��� ζ = φ/σ� �
 ����� �
 �����
� �� 
��
�������
 �� ζ ��

 ���)�����


�� �����!�
�
�� �
 ���� )�� ����� ������ �
� ���
 �����
�!�
� �
� ������

���)�����
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Det = (1 − δ)Tr + δ

(
αθ

1 − α
+ 2 − δ

)
− 1. .6�57/

K��
� ζ ��
� ���
 8���� �
 ��
����� ���
 �� 
�������
 �� ��
�����
�� ���-

������ ���
� � ���� )���
 ���� �
 �)������� �� �+�� ���
�-
�����

�� C��� ,�������	 �	 ��� ����-! �
 4H������� ����0! &�
� ��� ��	���� �� �� ����	�
�	���

�
 2��&���
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� �������
��
 �������������
 � �� �������

ζ 0 ζ∗

Z1 0 ↗ (B (1 − 2A))
1
A

ελ (Z1) +∞ ↘ −A

Tr (Z1) 1 − δ ↗ 1 − δ +
θ

(1 − A) (1 − α)

Det (Z1)
αδεχ

1 − α
↗ θ

(1 − A) (1 − α)
[1 − δ + δα (1 − A)]

%������ 6�5 Q �
��
�	����	� �� �� 	���� �	 �� ��	�������	 �
�� �
�	�	 �	�	�
������ ���

	����0
 �� �����
����
 5� ���� ζ 
�M
�!!�
� ������ �� 8���� �� 
+
�0!�

�+
�!�)�� ��!�� ���, �)�������
 
�����

����
� "�
��
���
� 
���� ����
���



�� �� �������� Z� �
 � Z1 (ζ) < Z2 (ζ) ���� ���� ζ �������
�
� � [0,ζ∗[�

�
 �����0!� 
�&� �� ���� )�� ��
 ����
 
�����

����
 
� �����
� A��� �������


�,�������!�
� �	� #1
 �� �����
�� �
� �
��+
� ������� �
 ������� ��
 ��!���
 ��



������

 Z1 �� Z2 )��
� ζ ��
� ��
�������!�
� ���
 8��� �� ζ∗� N
 ��1
��

�� ����� ��R�
� ��
 ���
�
 �
��� ��
)���
 �� �� ��
 ����
 
�����

����
 
�
�


�
��������
 �� �������

*�
 �������, 5 �
� 6 .��
� �� ��

�������
 �
� ��������� ��

 ������
����/

��
�!�
� ��
 ��������

 �� �� ����� �� �� �����!�
�
� ���
)�� ζ ����� �
���

0 �� ζ∗� *�
 �
����
 1 �� 2 
� ���0��
� ��
�������!�
� ��, ���� 
�����

����


4��
4 �� 4�����4�

�7� ���� �� &�
&��	 ��� ���	+��� ������$
��� �� ����	 &�� &������� �� '�
���� ��� �"&���#

����� �"&����	�� ��� �	�	� �	�	���������� �	 ���� �� �� 	���� �
 �
 ��	�������	� *� ��	����

$
� ��
� ���&	��� ��� ��	 �� 	��
%�� ��� %���
�� ��� &����+	��� &�
� ���$
����� ��� �"#

&�������� &�
%��	 <	�� ��	��
��� ��� %���
�� '�
�������	 ��� ��� ����	�� $
� &����		��	

����'���� �
� �� ���&��	����	 �
 ���	+�� &�
� ��� ��� ��	������������ ���
	��� ��	�����

�&�� �"��&�� ��HH�%����� �	 ���� ���-! ��	���
����	 ��� &����+	��� ����	������� $
� &��#

��		��	 �� ������� ��������� �
 ���	+�� �	 �� '����� ����� 
� ��� �	�	� �	�	��������� ( <	��

�2�� �
 &���	 (1,1)�
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������������ 
� �������
��
 �������������
 � �� �������

ζ 0 ζ∗

Z2 B
1
A ↘ (B (1 − 2A))

1
A

ελ (Z2) 0 ↗ −A

Tr (Z2) 1 − δ +
θ

1 − α
↘ 1 − δ +

θ

(1 − A) (1 − α)

Det (Z2)
θ

1 − α
[1 + δ (α − 1)] ↘ θ

(1 − A) (1 − α)
[1 − δ + δα (1 − A)]

%������ 6�6 Q�
��
�	����	� �� �� 	���� �	 �� ��	�������	 �� �
�	�	 �	�	�
������ ��� �

N
 ���� �
 ������� �� �����
����
 
����
�� 9

��
'
����
� 4�4 D�� ��$����	�
� �� =
�$ ����'� ���� �� �0�	��� �0���

����� 2��153 �
����� �� �
� 
�� �� ������% ������ ��� ��  ������� ζ, ��
E	

��	�� 0 �	 ζ∗ �
�� �� �
���	�
� �

0 < δ < min

{
1 − α

αθ
,

αθ

1 − α

}
.

(� ����% �
����� ζ 	�� ���� ζ∗% ��� ��$����	�
� �
�����
� �� ��
���	% ���

'��)��	 ��� ��� ���� �	�	� �	�	�
������� $���
����	 �� ζ∗ �	 ��� �� �0�	���

�
����	 ���� ����� �	�	 �	�	�
������ �
�� ζ > ζ∗�

������� *����� �� �� ������ �
� �� �������� �� ����� �� �� �����!�
�
� ��
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� ���
� � ���� ζ = 0 .��
�����
�� ��������/ �� ζ = ζ∗�

N
 �����
� ����
 �� ���� )����
 ������
� ��
��
V!�
� 
�� �
 
��!�
� �� ������

���
)�� ζ ������ ���� !�
���� )���
� ����������
 �� ;��� ���� 
���

����!�
�

�!������ ���

	�

 �
 ���!��� ��!�
� �
 ��

� ��
 ��
�����

 ���� )�� ������ 
�����
-


���� �
������� 
��� ������!�
� �
�����!�
� ��

 �� 
�������
 ��������!�
�

��� *� &��
%� �	��	 ����� �
� 
� ��2
���	 �� ���	��
�	�� �� ����	 &�� &������� �� ����
���

�"&����	����	 �� %���
� �� ��'
���	��� ����� 
�� '���	��� ��� &����+	��� �
 ���+���
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lim
ζ→0

D1 > lim
ζ→0

T1 − 1,

lim
ζ→0

D1 < 1.

�,���!��
 �
 ���!�
 ��
 ����!0���
� ��
 ��
�����

 �����
� A��� ��������


�� �� ��R�
 
����
�� 9

αθ

1 − α
> −1,

1 − α

αθ
> δ.

*� ���,�0!� ��
�����
 
��� 
���
����� � �� ��
�����
 )�� �� ���, �� �����-
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 �� ������� 
��� 
�M
�!!�
� ������ �� �� ���!�0�� �
� ����1�� )�����


)�� 
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� ��
 ������
 ��
 ����!0���
�

��� �������
� ��

 �� ��
 �� ��
�����
�� ���� �� ��������� ������ 
�����
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�������� �
� 
���

����!�
� �
 ���
�-
����� �
 �>�� Det(Z2) < Tr(Z2) − 1


� �� 
����!�
� 
� 9

θ

1 − α
[1 − δ (α + 1)] <

θ

1 − α
− δ,

��� �� !�
�0�� �)������
�� 9

α + 1

1 − α
θ > 1,

)�� �
� ���2���
 ����1��

*�
 �����
 �� �����!�
�
� �

����
 ��, ���, ����
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����
 
� �������
�


�� �
 
��!�
� ���
� ������ �� ��
�� (1−δ) ���
)�� ζ ���!�
�� �� ��
��

�
�

���
)�� ζ = ζ∗�

N
 ����� ��� ��

�)��
�� ��1
�� �
 
��!�
� ��

 �� ���0�� �����-�����!�
�
��

��
� �
� �,���!��� �
� �

����� � �
 �)������� �� �+�� ���
�-
����� ������� �,-

���!��� ���
� �

����� � �
 ����
� �� ��� )�� ���
 ��
 ���
�
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� �
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� ��-

��������
 �� ;��� ���
)�� ζ ����� �
��� 8��� �� ζ∗ �
� ����
 )�� �� �����!�
�
�

�

����� � �
� ����� ����� � 2 
��� 
�������� � 1 .���� 1���� 6�6/�

Trace

Déterminant

[T1(0), D1(0)]

[T (ζ∗), D(ζ∗)]

[T2(0), D2(0)]

������ 6�6 Q <�$����	�
� �� =
�$

�
 �����
�
� ���)�����
 .6�57/� �
 ���� )�� ����� ��
�����
 �
� ����1�� 
� ��


����!�
� 
� 9

δ2 − αθ

1 − α
δ < 0,

�� )�� �
� �

��� ���� 9

δ <
αθ

1 − α
.
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 ζ = ζ∗� 
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 �� �� ���!�0�� �����
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� � �
� ������ ������ �� !�����

���� � 1� �
 ���� ����� �� �������
 �� 9

Det (ζ∗) = Tr (ζ∗) − 1�

�)� �� λ1,λ2 ���	 ��� ��
" %���
�� &��&��� �%�� λ1 = 1� ����� Det = λ2 �	 Tr = λ2 + 1 =

Det + 1�
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� �>������!�
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 �� Det (ζ∗) �
� Tr (ζ∗)�
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 ����������
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 �
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�
��� � ������
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�!!�
� ������ �� �� ������ �� ����������
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1
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 �� �
� �
1
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�!������
 ��������
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� ��
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��
� ����
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 �� !��0���

������ 
�����

���� 
�
 ����
��� �
� �� �+�� ���
�-
����� ���
� � ���� )���� +

�0� @� �
�	 �2������	 �� �� &��
%� $
� 
�� ��'
���	��� �� D�&' ����2� &�
� ���	�	 �	�	���#

����� �
	����$
� ����$
� δ %���� ��	�� 0 �	 1� .��������� ��� ������$
�� �
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�� ��
���

'����� �
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	����$
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⎧⎪⎨⎪⎩
Kt = (1 − δ + ρ (kt))Kt−1,

U

(
ω (kt+1)

Kt

kt+1

)
= V

(
Kt−1

kt

)
������ ���
 ���� 
�����

���� (K,k)�

*� ��>���
������
 �� �� ���!�0�� �)�����
 ��

� 9

dKt = dKt−1 +
[
ρ′(k)
ρ(k)

K
]
dkt

= dKt−1 − K
k

∣∣εR∣∣ ,
�S �
 � �����
� �� ���� )�� R (k) = 1 � ������ 
�����

�����

N
 �����
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 ��>���
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� �� ���,�0!� �)�����
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ω

k
U ′ (C) dKt + (ω′k + ω)

K

k2
U ′ (C) dkt+1 =

V ′ (L)

k
dKt−1 − K

k2
V ′ (L) dkt.

N
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⎛⎝ dKt

dkt

⎞⎠ =

⎛⎝ 1 −ρ′K

k
K
εχ−1
εω−1

−εχ−|εR|
εω−1

⎞⎠ . .'�5/

N� V ′ (L) = v′ (L) [1 + R1 (L)]� U ′ (C) = u′ (C) [1 − R2 (C)] �� ��� ��

�-

)��
�� �
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�
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1

ω′k − ω

V ′ (L)

U ′ (C)
=

εχ

εω − 1
.
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MR(x̄) − MC(x̄) = 0,

�S MC(x̄) �
� ��

��
� ��

MR(x̄) = pj

[
1 +

∂pj
∂x̄

x̄

pj

]
,

����

pj = P

(
x̄ + (nj − 1)x̄j

y

)−
1

σ
.

	��S� �� 
�M� �� ��!�
���� )�� �� ��
����
 �� ������� !����
��� MR(x̄)

�
� ������

�
���

∂MR(x̄)

∂x̄
=

∂pj
∂x̄

[
1 +

∂pj
∂x̄

x̄

pj

]
+ pj

[
1 +

∂2pj
∂x̄2

x̄

pj
+

∂pj
∂x̄

1̄

pj

]
,
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∂MR(x̄)

∂x̄
=

∂pj
∂x̄

[
1 − 1

σnj

]
− pj

1

σ

nj − 1

n2
j x̄
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(
1 −

√
ζ

Z

)
Z = δ

α
K,(

1 −
√

ζ

Z

)
Z = 1

1−αLθ,

Z = KαL1−α.

.	�5/

�,���!�� �
 ���!�
 �� 
���( �� ������� �� �� �� ���������
� .	�5/ �����
� 9(
1 −

√
ζ

Z

)
Z = δ

α
K,(

1 −
√

ζ

Z

)
Z = 1

1−αK
θα

α−1 Z
θ

1−α ,

��
� �
 ������ 9

K =

(
α

δ (1 − α)

) 1−α
1−α(1−θ)

Z
θ

1−α(1−θ) , .	�6/

)�� ���
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����� ��

 �� ���!�0�� �)�����
 �� ��R�
 � ����
�� 9(
1 −

√
ζ

Z

)
Z

(1−α)(1−θ)
1−α(1−θ) =

δ

α

(
α

δ (1 − α)

) 1−α
1−α(1−θ)

.
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A ≡ (1 − α) (1 − θ)

1 − α (1 − θ)
(< 0) ,

B ≡ δ

α

(
α

δ (1 − α)

) 1−α
1−α(1−θ)

(> 0) .
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S (Z) ≡
(

1 −
√

ζ

Z

)
ZA = B, .	�E/
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 �
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�

S(.) �
� �
� ��
����
 )�� � ���� ��!���
 9

lim
Z→0

S (Z) = −∞,

lim
Z→+∞

S (Z) = 0.

	� ���
� �
 � 9

S ′ (Z) = ZA−1

(
A

(
1 −

√
ζ

Z

)
+

1

2

√
ζ

Z

)⎧⎨⎩ > 0 ��
√

ζ
Z

< 2A
2A−1

,

≤ 0
�
�
.

*� ��
����
 S (Z) ��!�� �
 !�,�!�! ���� Zmax = ζ ((2A − 1) /2A)2� )��

�
� ��

�� ��� 9

S (Zmax) =
ζA

1 − 2A

(
2A − 1

2A

)2A

> 0.
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ζ ≤ (B (1 − 2A))
1
A

(
2A

2A − 1

)2

.
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ελ =
1

2

√
ζ

Z

1 −
√

ζ

Z
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lim
ζ→0

Z1 = 0.

*��)�����
 (D.3) ���� 
� �������� 9√
ζ

Z
= 1 − B

ZA
,
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lim
ζ→0

√
ζ

Z1 (ζ)
= 1.
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limζ→0 Tr(Z1(ζ)) = 1 − δ,

limζ→0 Det(Z1(ζ)) = δαεχ

1−α .
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 ��!���
 ���
)�� ζ ��
� ���
 ζ∗ �����
� A��� ����
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Z (ζ∗) = ζ∗
(

2A − 1

2A

)2

.
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.	�E/ 9
∂Z

∂ρ
=

Z

2Aρ

1√
Z
ρ
− 2A−1

2A

,

)�� �
� ��
����� 
� Z > ρ
(

2A−1
2A

)2
� �� 
������� 
�
�
� N
 � 9

∂Tr

∂

(√
ζ
Z

) < 0 ��
∂Det

∂

(√
ζ
Z

) < 0.
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 �� ζ/Z ��� ������� ζ �
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 9

ε(Z
ζ )/ζ ≡

∂
(
Z
ζ

)
∂ζ

ζ(
Z
ζ

) =
1

2A
(√

Z
ζ

+ 1−2A
2A

) − 1,

��

�
∂
(√

ζ
Z1

)
∂ζ

< 0 ��
∂
(√

ζ
Z2

)
∂ζ

> 0.
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f(x) = 0 .E�C/
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‖F (X̂)‖ ≤ τ0‖F (X0)‖ + τa, .E�55/
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g(λ) = f(xn + λp),λ ∈ [0,1], .E�56/

�S

f =
1

2
F ∗F. .E�5E/
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g(λ) ≈ aλ2 + bλ + c. .E�5C/
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a = g(1) − g(0) − g′(0)

b = g′(0)

c = g(0)

. .E�5D/

*� !�
�!�! �� �� ��
����
 �
� ����
 ����
� ���� 9

λ∗ =
g′(0)

2(g(1) − g(0) − g′(0))
. .E�57/
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� �������� g(λ1) �� ��

���,�0!� ������ ���
 ����
�� g(λ2) 9

g(λ) ≈ aλ3 + bλ2 + g′(0)λ + g(0). .E�5G/

N
 � 9
g(λ1) = aλ3

1 + bλ2
1 + g′(0)λ1 + g′(0),

g(λ2) = aλ3
2 + bλ2

2 + g′(0)λ2 + g′(0),
.E�5I/

���S ���
 ������ 9⎛⎝a

b

⎞⎠ =
1

λ1 − λ2

⎛⎜⎝
1

λ2
1

− 1

λ2
2

−λ2

λ2
1

λ1

λ2
2

⎞⎟⎠ +

⎛⎝g(λ1) − g′(0)λ1 − g(0)

g(λ2) − g′(0)λ2 − g(0)

⎞⎠ . .E�5H/
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λ∗∗ =
−b +

√
b2 − 3ag′(0)

3a
. .E�6B/
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xn+1 = xn − A−1
n F (xn), .E�65/
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 �� �����0
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1 �� �� ��
����
 F 9

F ′(xn)(xn+1 − xn) ≈ F (xn+1) − F (xn). .E�66/
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��� ∆X
n = xn+1 − xn �� ∆F

n = F (xn+1) − F (xn)� �� 
������ �� ��
����� ��

�����0!� �� !�
�!�
����
 9

min
B

‖B − Bn‖F

��� B∆X

n = ∆F
n

, .E�6E/
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‖B‖F =

√√√√ N∑
i=1

N∑
j=1

B2
ij =

√
Tr(B∗B). .E�6C/

�
�������!�
�� �� 
������
 �� �� ������!!� �
� ����
�� �
 ���2���
� �����-

��
���!�
�Bn 
�� ���
���� ��
 !������
 
���
���
�
� �� ��
�����
B∆X
n = ∆F

n �

���� 
������ ��
� 9

Bn+1 = Bn +
∆X
n − Bn∆

F
n∆F

n
∗

‖∆X
n ‖2

. .E�6D/
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L = Tr(B − Bn)
∗(B − Bn) − 2λ∗(B∆X

n − ∆F
n ). .E�67/

N
 � � ������!�! 9

∂L

∂B
= 2B − 2Bn − 2λs∗ = 0. .E�6G/
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λ =
∆F
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X
n
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(B + uv′)−1 =

(
I − B−1uv′

1 + v′B−1u

)
B−1. .E�6H/
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un =
F (Xn+1)

∆X
n

, .E�EB/

vn =
∆X
n

‖∆X
n ‖

, .E�E5/

wn =
B−1
n un

1 + v′
nB

−1
n un

, .E�E6/
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�� 9

B−1
n−1 = (I − wnv

′
n)B−1

n

= . . . .E�EE/

=
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I − wjv

′
j

)
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∆X
n+1 = − B−1

n F (Xn+1)

1 +
∆X
n

′
B−1
n F (Xn+1)

‖∆X
n ‖2
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wj = − ∆X
j

‖∆X
j ‖

, .E�EC/
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n = −1U r0 = ‖F (X)‖
∆X

0 = −F (X)

���� ��� ���[!�,�� >����

n = n + 1

itc = itc + 1

Fn = F (Xn)

�� ‖F (X)‖ ≤ τrr0 + τa �,
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)������

=� ��

�� n < nmax �,
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Y\ "����� �� B−1
n F (Xn) \Y

z = −F (X)
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�� j = 0,n − 1 >����
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X
j
′
z

‖∆X
j‖2
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∆X
n+1 =

z

1 − ∆X
n

′
z

‖∆X
j‖2

=� ��
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n = −1; s = −F (X)
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∆X
n = −λnB

−1
n F (Xn), .E�ED/
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Bn+1 = Bn +
F (Xn+1) − (1 − λn)F (Xn)

‖∆X
n ‖2

∆X
n . .E�E7/

N
 ���� ��
�� ��!!� �������!!�
�� �����)��� �� ���!��� �� ����!�
-

�����
�
 �1
 ������
�� �
� �������
�� �
��� ��
 �
���
�
 
����

���
 �� Bn�

�
 ���
�
� ����� ���
-�� 9

un =
F (Xn+1) − (1 − λn)F (Xn)‖∆X

n ‖
‖∆X

n ‖
, .E�EG/

�� vn �
���
��� N
 ���� ����
 !�
���� )��� ��

 �� ��
� �
 � 9

wn ≡ B−1
n un

1 + v′
nB

−1
n un

= λn

⎛⎜⎜⎝−∆X
n+1

λn+1
+ (1/λn − 1)∆X

n

‖∆X
n ‖

⎞⎟⎟⎠ , .E�EI/

��

∆X
n+1

λn+1
= −‖∆X

n ‖2B−1
n F (Xn+1) − (1 − λn)∆

X
n ∆X

n
′
B−1
n F (Xn+1)

‖∆X
n ‖2 + λn∆X

n
′B−1

n F (Xn+1)
. .E�EH/

N
 � ��� ��

�)��
� ����������!� 
����
�� )�� �����
� ��
2��
��!�
� ��


�������

 .E�EI/� .E�EH/ �� .E�EE/ 9
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r0 = ‖F (X)‖; n = −1

�������� λ0

∆X
0 = −λ0F (X)

���� ��� n < maxit >����

n = n + 1

Xn = Xn−1 + ∆X
n−1

������� F (Xn)

�� ‖F (Xn)‖ ≤ τrr0 + τa �,
��

)������

=� ��

z = −F (Xn)

'
�� 2]B�
-5 >����

a = − λj
λj+1

b = 1 − λj

z = z +
a∆X

j+1 + b∆X
j

‖∆X
j‖

∆X
j
′

‖∆X
j‖2

z

=� '
��

Y\ ������ �� \Y

d =
‖∆X

n ‖2z + (1 − λn)∆
X
n

′
z∆X

n

‖∆X
n ‖2 − λn‖∆X

n
′z

������ �� λn+1 ��� ��������� ��
�����

∆X
n+1 = λn+1d

=� ���� ���

����# ���$���� ,���	�'��� �� ������������

*� !������ �� '��+��
 �����)��� �� !��0�� ���
�!�)�� �� �������� 
��
�

������ ��� �M���� ���� �� ������ ��
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+
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F (X) = 0, F : R
n → R

n, .E�CB/

�S � �
� �
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����
 ��
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� ����� 
������
 ���� A��� ��
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H : R
n × R → R

n

X,λ �→ H(X,λ),
.E�C5/

����

H(X,0) = F (X) et H(X,1) = G(X), .E�C6/

�S G �
� �
� ����������
 �� R
n ��

 R

n ��
� �
� 
������
 X̄ �,�
�� �
�

���� A��� �������� ������!�
�� ���
 ���+����0
� )�� ������������
 H �
� ��

��

-� :� ��	����� &�� '���	��� ����� ���� �� ���	� �� �� ���	���� 
�� '���	��� C∞� ��� ��

���&����� ���"&����
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 �� �!������� ����� ���!�0�� �
��!����
 �
 �
�����
�

���
���!����
 )�� �� ��
����
 H ���� 
��

���� ���� ��
 ���
�
 �� c(s)� *�


������ ���
� ����
� 
��� ��� ��

�)��
� �� ���
� �� �� ������ �� ���
 ������

�� ����� ����
� ��

 ������� �� ���������
� "� ���
���� ��
���� �
� ����
��� ���

�� 1���� E�7�

"�����'��
� 	� ,� ���(
	� 	� ���	����
�0�
������
�

!#%��'� 	� ���	����
�

	�������

 � ���
�
� ��
 ���, �����
 �� ���� !�
� �
 ����� ��
��0�� ���� �



+
�0!� ��

�� *������ �� ���������
 
� ������� ��
�����!�
� ��� �������
����


Q 5CE Q



������
 ���
����
 �
� ������
 ��������
�

Prédiction Correction

ui

ui+1

H(u) = 0
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vi+1 = ui + ht(H ′(ui)), .E�CE/
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�������!�
� �� ���
��� ���
� ������� �� �
� �����,�!�-

���
 �� ���
� 
����
�� h > 0 ��
��
� �� ������ �� ��
 ����
�� .
��
 �� 
����
�-

��

 1,� ��

 �
 ���!��� ��!�
/ �� t �
� �� 
������
 �����
�� ���� �� �������

��
��
� � c(s) �� ���
� ui� "� ���
��� �
� �����!�
� � ������ �� $������
 ��

H ������ �
 ui �� 
��
 ���

 ������� ����� ����
��
�� �,�������!�
��  ��


����

 ���+����0
� ��

 �� 
���� )�� �� $������
� �� ��!�

��

 N × (N + 1)

�
� �� ��
� !�,�!�� N � *�
 ���
�
 )�� 
���
��
� ����� �+����0
� 
�
� )��-

��1�
 �� ��'������� 	� !A!�� �
 ���� ���
� ������ �� ������������
 H )������

�
� ������0�� 
� ���
 
�
 �
������
�
 
�
� ��
 ���
�
 ��������
� N
 ���� ��
�

�����!���� ��

� ���+����0
� 
�� ��)����� 
� ��
� �� 
���� �� �� ��
��

��
 9

<*'
�(.�� 9�- � ��	 ���  ����� ��'������ �
�� �
�������	�
� H

Q 5CC Q



������
 ���
����
 �
� ������
 ��������
�

�
 �����
�
� �� ���� )�� H(c(s))) ≡ 0� �
 �����
� ��� ��>���
������
 9

H ′(c(s))c′(s) = 0, .E�CC/
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c′(s)∗
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� �� ��
� !�,�!�� N

.���� ��
 N ���!�0��
 ���
�
 
�
� ��
�����!�
� �
����
��
��
/ �� )�� �� �������

��
��
� �
� �������
�� ��, ���
�
 �� H ′(c(s))� #�

�� 
�
 �����!�
�
� 
�


��

����� 2�!��
 �� ��� ��

�)��
� 
�
 
��
� ��
�� ��

��
� 
�� ���

�!���

�� �� ������ 
������
�

"�=����
� 9�- C� ��	 ��� �� �
���� c(s) ��	 
����	�� �
��	� ����	% �� ��

��'�� �� ��	�������	 �� A��
���� ��'���	� ��	 �
��	�$ �
�� 	
�	 s�

���
 �� ��
�����
 )�� �� ������ 
������
 
��� ����
��� ��
�����!�
�� �


���� ����
 �����!�
�� �� ������� ��
��
� �� ��R�
 �
�)��� ��� �� !�
�0�� ���


��
������ �
 ��1
��� �� ������� ��
��
� �

���� � �
� !������ �� �� ��R�



����
�� 9

"�=����
� 9�4 /
�	 A ��� ��	���� �� �������
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 ��	��� 	��'��	 �����	 ��� A% ��  ��	��� ������ v ��� ��	��$��	 �

1� Av = 0%

�� ‖v‖ = 0%

5� det

⎛⎝ A

v′

⎞⎠ = 0�
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H ′(c(s))∗ = Q

⎛⎝ R

0∗

⎞⎠ . .E�C7/
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Q∗H ′(c(s))∗ =

⎛⎝ R

0∗
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0∗ 1
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min
ω

{‖ω − v‖|H(ω) = 0}. .E�DB/
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H(w) = 0

(v − w) ∈ (t(H ′(w))⊥ ⇔ (t(H ′(w))∗(v − w) = 0.
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H(w) ≈ H(v) + H ′(v)(w − v),

t(H ′(w))∗(v − w) ≈ t(H ′(v))∗(w − v).
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A(w − v) = b,

t(A)∗(w − v) = 0,
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N(v) = v − H ′(v)+H(v). .E�DI/
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v(h) = u + ht (H ′(u)) . .E�DH/
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k(u,h) =
‖H(v)+H(w)‖
‖H(v)+H(v)‖ . .E�75/
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k(u,h) = κ(u)h2 + O(h3). .E�76/
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h̃ = h

√
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u = x + ht ���������� �������

H ′(u)
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i = i + 1

u = u − A+H(u)

dist = ‖A+H(u)‖
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contr =
dist

disto
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disto = dist
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���	 Ŵ �� 	�
� � " ��� ���	���� ��$������� " ε �� W u
partial�

�
 ����, �� ε �
������� � �� ��
������
 �� ������
 .�� �� ���!���!�
��/

����
��� �� 1������� �� �� ������ ������� *� ��������
 
�!���)�� �� ���
�
 ��-

!����
�
 �� ���������
�
 ���� ��
� A��� ��

������ ���� ��
1�
�� �
 �����
�
�

����� !������ ���

����� *���	������ �� ��.� �	��$��

"�!!� 
��
 �����

 �,��
� ��

 �� 
�����
 �������
��� �� �����0!� �
�����


� ��!0
� � �� �����!�
����
 ���
� ��������� ����
��

�
� �� 1������� ��

������ ��
 ������
 
����

���
 
��
 �
� ����������
 T ���
� ������
 �� ������

��

�� )�� ���
 
����� γ� *�����������
 �� ����� ��������� ��, �������
 
�����

�� �

����� ��
� �� �����0!� 
�����!�
����� �� ������ �� �� ������ �
������ γ�

	�

 �� �����)��� �� 
����� �� ������� �
� ��������
 �� �� ������ γ )��

���

� �
 ��!��� ��
 �����0!�
 �� ���
�
 !�
)��
�
 �� �� ���
�
 ����
�


�,��
�
 �������!!�
�� 	�

 �
 ���!��� ��!�
� �
 
��
����

� �� ��
 ��


���
�
 !�
)��
�
� ���
�-�-���� )���� �� ������� 
��

���� )�� �� ��
����� ��



��!�
�
 �� �� ������ �������� 
��� �
�������� � �� ��
������
 �� ���������)��

�� 
����� 
��
����� �����
�
� ��
 
������

 ��
 ������
� �
 �
���� �� ������

γ ��� s ∈ [0,1] �� �
 ��1
�� �
� ��������
 �� �� ������ ��!!� ���

�!��� ��

���
�


{γ(sk); 0 = s0 < s1 < ... < sm = 1}. .E�77/

*��!��� ��� �� n

��


������ �� T �� �� ������
 �� ������ ��!���
� �
���

��� ( 
�� �����%� &�+� $
� ��
� �"&������� &�
� �����

Q 5DD Q



������
 ���
����
 �
� ������
 ��������
�

γ(sk) �� γ(sk + δk) �
� �
� ������ ��

�,� �� ��
����� ����� 9

lk =

∫ sk+δk

sk
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δk =
ε

rn
, .E�7I/
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ri = max
s∈[sk,sk+δk]

‖ d

ds
T i(γ(s))‖. .E�7H/
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∃C,‖(DT (p) − DT (q))v‖ ≤ C‖p − q‖‖v‖,∀p,q,v ∈ B, .E�GB/
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ri+1 ≤ Cr2
i δk + ‖DT (T i(γ(sk)))‖ri. .E�G5/
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ε = rnδ, .E�G6/
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r1 = Cδk + d0,

ri+1 = Cr2
i δk + diri.

.E�GE/
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r1 = Cδk + d0 + 2Cε

ri+1 = Cr2
i δk + (di + 2Cε)ri
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Mn−1 . . .M2M1Anxn ≡ L−1Anxn ≡ Uxn = L−1bn .��G/
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L =
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i=1

M−1
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(
I + τ (i)e∗i
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Rx = Q′b ≡ c. .��55/
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R(X,θ) =

⎡⎣ cos(θ) sin(θ)

−sin(θ) cos(θ)

⎤⎦⎛⎝ x

y

⎞⎠ . .��56/
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cx + sy = ‖x‖
−sx + cy = 0
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c =
x

‖X‖
s =

y

‖X‖
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G(i,k,θ) =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 · · · 0 · · · 0 · · · 0
���
� � �

���
���

���

0 · · · c · · · s · · · 0
���

���
� � �

���
���

0 · · · −s · · · c · · · 0
���
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���
� � �

���

0 · · · 0 · · · 0 · · · 1

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

i

k

i k

)� �� ���� ��	� α ����2
���	 �
 %��	�
� X � �� %��	�
� R�SG�R�θ) �
�� &�
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x′ = cos(α − θ) �	 y′ = sin(α − theta)
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aii√
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ki
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Q =
∏

i=1,...,n

∏
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G(i,k,θ) .��57/
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Yt = F
(
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Y
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Y
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Y
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ẑt =
ŷt − µsK k̂t − µsH ĥt

1 − µsK
, .C�D/
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µsK + µsH
H − H̄

H
= 1.
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µ̂t = ẑt − ω̂t +
KF21

F2
k̂t +

zF22(H − H̄)

F2
ẑt +

zHF22

F2
ĥt. .C�7/
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f ′′(k)kf(k)

f ′(k)(f(k) − kf ′(k))
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k =
K
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, f(k) = F (
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µ̂t = ẑt − ω̂t +
µsK
σ

[
k̂t − ẑt − µsH
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ĥt

]
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µ̂t =
σ − µsK

σ(1 − µsK)
ŷt +

(1 − σ)µsK
σ(1 − µsK)

k̂t − µsH
1 − µsK

ĥt − ω̂t. .C�5B/
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F21 = − kf ′′(k)
z(H − H̄)

et F22 = − k2f ′′(k)
z(H − H̄)

.
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Cω(t) = A cos(ωt) + B sin(ωt), − T ≤ t ≤ T. .C�55/
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Cω(t) = α cos(ωt + φ), .C�56/
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f(x) =
a0
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F (t) = A cos θ = A cos(ωt + φ), .C�5C/

�S # �
� �
 ����!0��� ������ �����	��� �� θ �
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����
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	������� �2������	 ���� �� �
�	� ����/�������	 ��
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 �� ���


��!���,�� N
 �� �
 �>�� 9

F (t) =
A

2
(eiθ + e−iθ),

���� ⎧⎨⎩ eiθ = cos θ + i sin θ

e−iθ = cos θ − i sin θ

*� ��
����
 �� 
+
�0!� � �
 �

��
� ��

� �
� ��
� ����
�� ��!!� ��


�!!� ���
 ������� ��

 �� ���
 ��!���,� ������!�
� θ �� �� 
�
 
+!����)��

��� ������� � �� ������ ������ .���� 1���� C�6/�

*� ���
� ���� A��� ����!��
�� �
 �
� ��!��
�
�� 1,� φ� )�� �����
�
��

�� ���
� � �������
� ��
 ��!�
� �� �
� ��!��
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 ��� �
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 �,���!�
�

����� ��������
 ��� ������� � �� ��
����� �� �+���� ���
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ω = 2πf,

�S f �
� �,���!�� �
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��� �� ��!�
� �
1
� �� ��!�
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φ

−φ

A/2

#

ω

A cos θ

↗ t

������ C�6 Q L�������	�	�
� �
��� �
��
���	� �����
K���� ���� �� ���� �
��

�����

)�� 
������ 9

X(t) =
1

2
α0 +

∞∑
j=1

(αj cos ωjt + βj sin ωjt) , ωj =
πj

T
.
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< U(t),V (t) >=

∫ T

−T
U(t)V (t)dt.

#�

�� ���� ������� �� ������ ��
 ���M���
�
� �� 
�M� �� ���2���� X(t) 
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��
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 �� �� ��
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�
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�

X(t) 
�� �����
 ��
 �������
 .���� :��������, �� ��
����� 5HIH/� #�

�� �


� �

αj = < cos ωjt, cos ωjt >−1< cos ωjt,X(t) >

=
1

T

∫ T

−T
X(t) cos ωjtdt,

�� �� �� !A!� ��R�
 9

βj =
1

T

∫ T

−T
X(t) sin ωjtdt.
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|X(t)| dt < ∞.
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�� 
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cos2 x =
1 + cos 2x

2
,

�	

sin2 x =
1 − cos 2x

2
.
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‖X(t)‖2 = 〈X(t),X(t)〉 =

∫ T

−T
X(t)2dt

=

∫ T

−T

(
1

2
α0 +

∞∑
j=1

(αj cos ωjt + βj sin ωjt)

)
.C�5D/

= T

[
1

2
α2

0 +
∞∑
j=1

α2
j + β2

j

]
.
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�� cn = (α2
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n)/2 9

‖X(t)‖2 = 2T
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j=0

c2
n.
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3� =� �/�	� &�
� X(t) =
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j=0 ajUj(t) �%�� < Ui(t),Uj(t) >= 0∀i 	= j� �� ����	��� ��
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‖X(t)‖2 =
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j‖U(t)‖2.
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T (t) = X(t), − T < t < T

X∗(t + 2pt) = X(t), p = ±1,2,3 . . .
,
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X∗(t) =
∞∑
n=0

(αn cos 2πfnt + βn sin 2πfnt) ,

���� fn = n/2T �

*� ���
� �
� ��� �,���!�� �
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X∗
T (t) =

∞∑
n=−∞

Ane
i2πfnt,

���� 9

An =

⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
αn − iβn

2
, n > 0

1

2
α0, n = 0

α|n| + iβ|n|
2

, n < 0

.

�
 ��!���R�
� ��
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�
 αn �� βn ��� ����
 �,���
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 ��
�������
�

�
 �����
� �
� �,���

��
 �
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An =
1

2T

∫ T

−T
X∗
T (t)e−i2πfntdt.

	��S� ���� t ∈ [−T,T ]�

X∗
T (t) =

∞∑
n=−∞

1

T
X∗
T (t)e−i2πfntdt,
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X(t) =

∫ ∞

−∞
P (f)ei2πftdf, .C�57/

����

P (f) =

∫ ∞

−∞
X(t)e−i2πftdt.
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� �U �� ���,�0!� �
������� ������� �� ����

)��� �� ��
����
 ���
� ��������)��� ��
 ���)��
��
 �����
� A��� ��1
��
 
�� �


��
��
��! ���� )���
� �����
�
�����
 �� ������� 
��� ��

�����

 ��������!�
�� �� �
� 
���

���� ���!��
�� ��
 ��
�������

 
�� �� 
��
�� ����

)�� ���
������� )�� �
������
� ��

 ���,���

��
 �� �� ���

���!�� �� �������


��� ��1
��� N
 ���� !�
���� )���
� ��
�����
 
�M
�
�� ���,�
��
�� �� P (f)

�
� )�� X(t) 
��� ��
���!�
� �
�������� 
�� ] −∞, + ∞[�

*� ��

��� ��, ���)��
��
 ����������
 
��
� ����� 
���

���� ���� !����� ��


���� 
��
 ���!� �� ���!�

 �� ��

�� � �� ��!���� N
 ���� � ���
�
� ���������

��
 �,���

��

 �
 ���!�
 �� ���)��
��
 �
�������
 �
 �����
� �� ���
��!�
�

8� ����	 ( ����� �� ����+�� �$
�%����	�� �
" ���>����	� �� &��
��	��� �� X(t) �
� ���

%��	�
�� �� �� ���� B = {e−i2πft,f ∈ R}� &
��$
� ‖e−i2πft‖ = 1�
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�� �������� ω = 2πf 9

X(t) =

∫ ∞

−∞

(∫ ∞

−∞
X(t)e−iωtdt

)
eiωt

dω

2π

=
1√
2π

∫ ∞

−∞
G(ω)eiωtdω,

����

G(ω) =
1√
2π

∫ ∞

−∞
X(t)e−iωtdt,

�S �� ������� 1√
2π
� ��� ����
� �� !�
�0�� � ���
����� �� 
+!����� �
��� ��


�����
 �� ��������

#���� 
� ��� ����$����'�� � *������� �����	����

*��
��+
� )�� � ������� 
� ��
���
��� 2�
)��� ���
�
� )�� ��
 ��
����

 ��-

���!�
�
��
 �� ��!�
� N�� �� ������� ���
�!�)�� 
��
����

� � ��
 �����

�


��

 ��
)���
 �
������
� �
� ���
�� ���� ���
���������� �� ���� �� ����
 
�


�����
����
 
�� ��
 ��������
� �� �� 
���

���� �!�

��
 �� ������

 �������


�,��������
 �
��
�������
 �� ��M����!�
� !�����
����
 ������ *�
 
����

 ���-


�
���
 2�
)��� ���
�
� �����
� ��
� A��� ���
���
 �� ��
 �S ��
 �����

�


������
 ��!�����
� �
� ��!��
�
�� 
�����
��)��� "���� �,��

��
 ���� �
-

�����
�� ���
����
 ��M�����
 
�����!�
�����
� %��� �������� �� 
� 
����� ���


��������� �
 
��
�� �
�)�� !��
 �
� �
1
��� �� 
��
��, �����
��
��
� � ���
-


�!��� ��
 �����
����

 ��

����
 �� �����

�
� ��� �������
� �
� �����
����


���������0�� 
���!�� �� �����
�
�����
 
� 
��
 ���!� �� 
���� �� ������� .����


��
� ��
 �������)��/ 
� 
��
 ���!� ���
������� �� ������� .�
� 
���� 
�����
-


���� �+�
� �
� �����
�� ��

��
��� �� ��
�����
 ���
����������� ��
���� �
�

������/� 	� ����� �� 
��
� ��
 ��

���� �� ��1
�� )���)�� ���
� ��!!� �� ��
���-

�����
 ���
� ���)��
�� ��

�� � �� �����
�� ������ �� �����

�
� �
 ���
�
 ��

����� 
�
-�
������������ "��
� ����)���� �� 
������
 ��

�
�� � 
��!���
�� ��
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�
�������
 ��� �� ������ �� ��!��
� ���
��������
� "� ���
�
�� �
 ��1
�� �
�

!�
��� ��
 ��
��������

 �� ���)�� ���)��
�� ��� ���	� �� 	����� �������

��

��� 
��������� )�� 
��
 
�����

 h(ω)�

#1
 �� 1,�� �� ����� ���
��+
�� 
��
 ��

�����

 �� ��
 �S X(t) �
� �


�����

�
 
�����
��)�� 
�����

���� �� 
���
� ������ ���
� � ���� 9

"�=����
� ;�- D� ��
������ �	
����	���� ��� ���� X(t),t ∈ R ��	 ��	 
��-

���

���� �� 
���
� ����� 
� 
�����

���� �� 
�

 ����� ��

1� E(X2
t ) < ∞ ∀t ∈ R

�� E(X(t)) = µt ∀t ∈ R

5� cov(X(t),X(s)) = cov(X(t + k),X(s + k)) ∀s,t ∈ R,∀k ≥ 0

*� ���
�0�� ��
�����
 �!���)�� �
 ����������� )�� �� �����
�� �
� ��

��
��

��

 �� ��!�
�

������ �� ��
��������

 ��
 ��>���
��
 ���)��
��
 � �� �����
�� �� �����
-


�
 
� ���� 
�

 )�� 
� ���
 ���� !�
���� )���
 �����

�
 
�����

���� ����

�>������!�
� A��� �� ��!!� �� 2�,����
����
 �� ��!��
�
��
 
�
�
�P����
 ��

��>���
��
 ���)��
��
� *� �����0!� 
����
� ������� �����
�!�
� �� �����
�
-

�������� �� .���
)��/ ���� �����

�
 
�����

���� 
��
 �� ���!� ���
� 
�!!�

�� 
�
�
�P��
 �� �� ��
�
�
�P��
� 	�>���
��
 ������
 �� �� �����0!� �����
�

A��� �������
 ��

 ����
���+ .5HI5/ .��� 6C7 �� 
����
��
/� ���
 �����
�!�
��

�� �����0!� 
��
�
�� �� �� ��R�
 
����
�� 9

 (�
�.�� ;�- /
�	 {X(t)}, −∞ < t < ∞% �� ��
������ �	�	�
������ �	
�

����	�������	 �
�	��� � �� �
0���� ������ -�
��% �� ����	� �� ��
������ 
��

	�
'
���% {Z(ω)}% 	�� ���% �
�� 	
�	 t%

X(t) =

∫ ∞

−∞
eiωtdZ(ω), .C�5G/

-� B� &������
� �	�	�������� {X(t)} ��	 ��	 �	�����	�$
����	 ���	��
 �� t0 ��

limt→t0{E(X(t) − X(t0))2} = 0

Q 5HI Q
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�������
 �� ���� �
 ����



G �
��	�'���� ��	 ��)��� �� ���� �� �� �
0���� ������	����� �� ��
������ ��	

��� �������� �����	����� ��� �

1� E(dZ(ω)) = 0,∀ω%

�� E(|dE(ω)|2) = dH(ω),∀ω% 
G H(ω) ����'�� �� ����	�� ��	�'�� �� X(t)� �

5� �
�� 	
�	 �
���� �� $��������� ���	���	�� (ω,ω′)%

cov [dZ(ω),dZ(ω′)] = 0. .C�5I/

*��)�����
 .C�5G/ �
� ������� �����
�
�����
 
�������� �� �����
�
�����


�� "��!�� �� �����

�
 {X(t)}� �� ������&� ������!�
� ��

 ���
�
�� �� ��
�����0!�� )�� �� 
���� ��!��� � �� �����
�
�����
 ��
 �����

�
 
�����

����


��

 �� ��!��
� ��
 ���)��
��
 �
� �� ��
�����
 �� ��
��
���� 
�����
��)���

�� )�� ��� ��
�0�� �
� ���
�� ��
������� �� 2�
��1� �� �� ���� ���
���A� �����)��

�� ���
��+
� 
��������� 	������ ����� �� ������&� ��

 �� ��!�

������
 �� ��

�����0!�� )�� �� ��
����
 Z(ω) 
��
� ��
 ��>���
������� �� �
� ��� ��

�)��
�


���

���� �������
�� �
� �����
�
�����
 
��
 �� ���!� ���
������� �� ������2�
�

	� ���� �� �����0!� �� �����
�
�����
 
��������� �� )��
���
 �� ���
L��
��

��
 ��!��
�
��
 .
�����
��)��
/ ��, ��>���
��
 ���)��
��
 
�� �� �����
��

������ �� 
��
�� �
� ������!� �� 
��
 ��������

 � ���
�
� ����� 
����
�

"�

�����

� ��

 �
 ���!��� ��!�
� �
� �����
����
 ��

�� X̂(t) �� ���-

��

�
� #1
 �� ��
����
�� ��
 �����0!�
 !�
���

�
 ��-��

�
� ����� �����
�-

���
 ���� A��� �����,�!�� ��� �
� ��
����
 )�� 
���
���� �� ��
�����
 ���
��-

��������� ��
���� ��)��
�� ���� �� ������ �
 �����
� �� ��
����
 ���
)��� 9

X̂T (t) =

⎧⎨⎩ X(t), −T < t < T,

0 
�
�
�

�� =� &��	��
����� �� X(t) ��	 �����	����� &�� 
�� �����	� �&��	���� ���	��
�� dH(ω) =

h(ω)dω�

Q 5HH Q
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��
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X̂T (t) =
1

2π

∫ ∞

−∞
GT (ω)eiωtdω,

����

GT (ω) =
1

2π

∫ T

−T
X̂T (t)e−iωtdt.

*�
 ���)��
��
 ���
� ��1
��
 
�� �
 ��
��
��!� ���
L��
�� �� �� ��!��-


�
�� �

����� � �
� ���)��
�� ��

�� 
�� �� 
��!� �� ����� �� 
��
�� �
�


����� �
 ����
���� �
 ���� !�
���� ���
L��
�� ��
 ��!��
�
��
 �� ���)��
��


��!���
�
 �
��� ω �� ω + dω� )�� �
� ��

�� ��� 9

|GT (ω)|2 dω.

#1
 ������
�� �
� !�
��� 1
�� ���
 �� ��

��� � �� ��!���� �
 
��!���
�

����� �,���

��
 ��� �� ��
����� �� ���
�������� [−T,T ]� �
1
� ���
����
��

�� ���,���

��
 ����
�� ���!�� �� ��

������ �
� !�
��� )�� 
� ����
��

��
 ���
� �����
����
 ���������0��� N
 ��1
�� ��

� �
� ��
����
 h(ω) �������

��
����
 �� ��

��� 
�������� �� ���

�
�� �� 
�!���!�
� 
������ �� X(t)

)�� !�
��� �� ��
��������
 .��� �
��� �� ��!�
/ �� ���)�� ���)��
�� � ��

 ������� �� 
��
�� 9

h(ω) = lim
T→∞

E

( |GT (ω)|2
2T

)
. .C�5H/

*� �����0!� 
����
� �	 ������ �� �������
 �
��� ����� ��
����
 �� �� ��
����


�������������
�� �� �����

�
 `.�/ 9

 (�
�.�� ;�4 /
�	 X(t) �� ��
������ �
�	��� �	�	�
������ �� �
0����

����� �	 �� $
��	�
� �
��	
�
 ������� γ(τ)� -�
�� �� $
��	�
� �� �����	� �����

	���� �� ��������� h(ω) ���
���� ��	 �� 	����$
���� �� �
����� �� γ(τ)% �
��	

�7� C��� �����	��� ���-�! &�
� �� &��
%��

Q 6BB Q
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�������
 �� ���� �
 ����


" ���� �

h(ω) =
1

2π

∫ ∞

−∞
e−iωτγ(τ)dτ. .C�6B/

"� ��
����� ������� �� ����� ��
�!�
� ��!�
������� )�� �� !����� �� �����

�� �� ���

���!�� �� ������� ���
� ��
����
 f(t) �
� ���� � �� ���

���!�� ��

������� �� ������� �� ��
�������

∫∞
∞ f(u)f(u−t)du� *��
����
�� �� �������

�� ��
�������
 ���
� ����� � �� ��
����
 �������������
�� γ(τ)� ���,���

��


.C�6B/ �
� ����
�� ��� ��

��� � �� ��!���� �
�� �� �
���	�
� ��� γτ �
�	

���
�����	 ��	�'������

"������� 
'�����,�� "����.���

	�

 �� �����)��� !A!� 
� ��
 ���
�!0
�
 ������
 �����
� �� ��R�
 ��
��-


��� ��
 ��

��
 �����
��
 
�
� ���������
 � �
��������
 �� ��!�
 ��������
� N



� ��
��
� ��
� ����
�������

 )�� 
�� �
� ������� 1
�� �� �
 ��!�
 ��
�����

�� �
� ��� ��

�)��
� 
���

���� ��������� ��
 ���������!�
�
 �������
�
 �1


�� ������� ��
 �����)��� ��
��0��!�
�� *� ������0�� 1
� �� ������
�����
 ��
��-


���� 
��
� ��
 �
 �����0!� �
 
��� ���
)���� �
� ���2���
 ��

���� ��!������

����1������!�
� �����-�� ��� ��
 8���
 �� ��� ��
 ����������

 �� ���-!A!��

#�

�� 
���
 �� ����, �>������ �
 ��

��0�� )�� ��
 ��

��
 
�
� �

��
 ���


�����

�
 ��
��
� �������)�� �� ��������)�� !��
 ��
���!�
� �
��������� "�-

��
��
�� �� �
� 
���

���� �� ��
��
�� ������
�����

 �� ������ ���
�

���� 
�

���
 
������� ����� �
� �
���!����
 
�M
�
�� 
�� �� �����

�
 ��
�������� "�

�����0!� �
� ���������0��!�
� ����
� �
 !�������
�!�� �S �� ��

�������
 ��

��

��
 �������
 
�� ��!���� )��� �� 
���� �� �� ���������
 (�+
�
��

� ����

��
 ������, �� ���
� �� ����� �� �S �� ���)��
�� ��
 ��
�������

 �
� ��

��

*��
��+
� 
�������� ��)����� ��
� ��

 �� ��!��
� �������
����
 �� ��

��


!�

�����
 �� �� !��

 ���!�
�������
�
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*�
 !���1�����

 �� �� ������� ����
 �� ������0�� ��
���� ��
 ��
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 �!��-

��)��
 
�
� �� ���, �����
 9 ���
� ����� ���
������� ��� ������� � �� ��������

��!������� �����
� �
� 
�!!� ��
��0�� �� ������� ����� �� ��!!� ��
 ���-

)��
��
 ���
�
 �
 ��

��������
 
� 
�������

� ���
 )�� 
�� �
 �
�������� ��

��
����� 2π� "� ���
��� ���
� 
��,���)�� ��� �
 ���
�!0
� ��������� ���

 +)��
� ������ 4�>�� �� 
������
����
4� "����-�� ��

�
�� �
 ���!��

�������

�� ��
��
���� ��
 ��!��
�
��
 �� ���)��
��
 ��
��
��
 ���
 !������� �� 2π� *�

1���� C�E ����
��� ����� ��M������ N
 ���� �
 �>�� ��

����� 
�� ����� 1����

)�� ���� t = 0,1,2, . . .� ��
 ������
 ��
 ���, 
�
�
�P����
 
�
� �����
� �� ���



� ��
��
��� )�� ���
 �

�!��� ��
���� ����
�������

 .�����
 �����
�
���
 
��

�� 1���� ��� ��
 �����
 �����
/� �� 
� 
��
 
����� ��
 ��

���� �� �����!�
��


� �� �����

�
 ��
������� .��
��
�/ �����
��
� � �� ���)��
�� ��
��!�
����

.����� ����
/ �� � ���
� �� 
�
 ���!�
�)��
 .���
�����
/�

	� �� ����� �� �
� �
����� �� �����
�
��� �� ��
����
 �� ��

��� 
�������� ���


�� ���
��������[−π,π]� *� ��

��� �� ��
 ��
��
� �� ��
 ��
���� ���� 
�������

�
 ��

�����
� ��

 �
 ���!��� ��!�
 �� 
��
�� ��
��
� ����
� �
 �����
� ��


���
�
 
����

��
 �� �� ��
����
 �������������
�� ��� ��
 
��!�
�
 �� ������
�

N
 ���� �

���� ����!��
�� �� ��!��
� ��!����� �
 �
��������
 �� ��
�����
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γ(τ) =

∫ ∞

−∞
h(ω)eiωτdτ

=

∞∑
s=−∞

∫ (2s+1)π

(2s−1)π

eiωτh(ω)dω

=

∞∑
s=−∞

∫ π

−π
ei(ω+2sπ)τh(ω + 2sπ)dω.
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γ(τ) =

∫ π

−π
eiωτ

( ∞∑
s=−∞

h(ω + 2sπ)

)
dω

≡
∫ π

−π
eiωτhd(ω)dω. .C�65/

N
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hd(ω) =
1

2π

∞∑
τ=−∞

ρ(τ)e−iωτ . .C�66/
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∫ π

−π
hd(ω)eiωτdω =

∫ π

−π

{
1

2π

∞∑
s=−∞

γ(s)e−iωs
}

eiωτdω

=

∞∑
s=−∞

γ(s)

{
1

2π

∫ π

−π
eiω(τ−s)dω

}
= ρ(τ).
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γ(0) =

∫ π

−π
hd(ω)dω, .C�6E/
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� ;�4 /
�	 Xt �� ��'��� ������	 �� $
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hd(ω)� �� ��
����
 �� ��

��� 
�������� 
��!���
�� ��	 �
���� ��� �

fd(ω) =
hd(ω)

σ2
X

,


G σ2
X

N
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�������
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Φ(L)xt = Θ(L)εt, ∀t,
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Xt =
K∑
i=1

(Ai cos(ωit) + Bi sin(ωit)) . .C�6C/
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γ̂(τ) =
1

N

N−τ∑
t=1

(xt − x̄) (xt+τ − x̄) .
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P̂ (ω) =
1

2π

T−1∑
τ=−(T−1)

γ̂(τ) cos ωτ. .C�6D/
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f̂(ω) =
1

2π

T−1∑
τ=−(T−1)

λ(τ)γ̂(τ) cos ωτ. .C�67/
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f̂(ω) =

∫ π

−π
P̂ (θ)W (ω − θ)dθ, .C�6G/

�S

W (ω) =
1

2π

T−1∑
τ=−(T−1)

λ(τ) cos(ωτ) .C�6I/
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E
(
f̂(ω)

)
=

∫ π

−π
fd(θ)W (ω − θ)dθ. .C�6H/
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W (ω) =
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2π

∑
s=−M

M cos sθ =
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2π

sin([M + 1/2]θ)

sin(θ/2)
. .C�EB/
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Γ(τ) =

⎛⎝ γX(τ) γXY (τ)

γY X(τ) γY (τ)
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Γ(τ) = Γ(−τ)′, .C�EE/
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γXY (τ) ≡ E [(X(t) − µX)(Y (t − τ) − µY )] .C�EC/

= E [(Y (t − τ) − µY )(X(t) − µX)] .C�ED/

= γY X(−τ). .C�E7/
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Yt =
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γXY (t) = E (XtYt−τ )

= E
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Xt
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τ=−M

δτXt−τ

)

=

M∑
τ=−M
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����

{xt} ��

� ���� A��� ����!��
� �
 
�!!� ���!���
��

 � ���)�� ���� t�

���
 �����
�!�
�� �
 ���� ������ 9

xt =
∞∑

t=−∞
xτt , .C�C7/
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�������
 �� ���� �
 ����


�S

xτt =

⎧⎨⎩ xt, 
� τ = t,

0 
�
�
�

N�� ��
 �!���
��

 
�
� �����
 ����
��
 �
 �����)��
� �
� ���

�����
 ��

�
� ��!������� � �� ��
����
 ���	� 9

δt =

⎧⎨⎩ 1, t = −1,

0 
�
�
�
.C�CG/

���
� � ���� 9

{xτt } = xτ{δt−τ}. .C�CI/

"�=����
� ;�: �� $
��	�
� �� ���
��� �������
������ �
�� )�	�� h() ��	 ��

��'��� 
�	��� �� ���������	 �� )�	�� " �� $
��	�
� ����� 2M�M>3 �

{φ(t)} = h({δt})
= {φt}t=−∞,...,∞.

.C�CH/

*� ��

��

�
�� �� ����� ��
����
 ���!�� �� �����!�
�� ���>�� �� �� 1����


�� 
��!����� )��� 
��
�� �
 �������
� �
 ����
 �����
 9

5� 	���!��
����
 �� 
��
�� ���
���� �
 �!���
��

 
���
 .C�C7/�

6� #���������
 �� 1���� ��, ���!�
�
 {xτt } �� �� ����!��
����
� 	� ����
�� ����!���
���� �� �� ���
�����
�� ��

 �� ��!�
� �
 � 9

h({xτt }) = xτh({δt−τ}).

E� �+
��0
� �� 
��
�� �� 
����� ��� 2�,����
����
 ��
 �!���
 ����
��


.����������/ 9

h({xt}) =
∞∑

τ=−∞
h({xτt }). .C�DB/

*� ��
����
 �� ����

� �!���
��

���� ������ ��

� ��!!�
� ���)�� ��
��-

�����
 �� 
��
�� �
���
� �
L��
�� �
 ������
 
�!��� ����
�������

 �� 
��
��
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����
�� 	����0
 .C�DB/ �
 �� ���� �
� ��
�������
 �
���������� yt �� 
��
��

�� 
����� 9

yt = h(xt)

=
∞∑

τ=−∞
xτh(δt−τ ) .C�D5/

=

∞∑
τ=−∞

xτφt−τ .

*�
 ��
�������

 �� 
��
�� �� 
����� 
�
� ��
� ����
��
 �
 �������
� �
�

!�+�

� ��
����� ���� ���� ��
�������

 ��
 ���M���
�
 �� �� ��
����
 ��

����

� �!���
��

����� �� ��
 ���M���
�
 
� 
�
� ��>���
�
 �� 8��� )�� 
��

���
�������� [s1,s2]� ���,���

��
 .C�D5/ �����
� 9

yt =

t−s1∑
τ=t−s2

xτφtτ ,

)���
 ���� �������� 9

yt =
s2∑
s=s1

xt−sφs.

#�#�� �1������ �� ����	��

#1
 ������
���� �������
����
 ��
 1����
 �
 �����)��� 
��
 �������

 ��

 �����


�����
 ���
����
 1����
 �����!!�
� �����
�
� *� ���!��� �� ��
 1����
� ������

1���� ��

�-��
 .��J-��

 1����/ �
� �!���+� ���
)���
 
������� ���!�
�� ��


��!��
�
��
 �� �����
 ���)��
��
 ���
 
��
��� *�
 1����
 ��

�-��
 
�
� ��
�

��
�����!�
� �����
�
 � ��
 1

 �� ��������
 �� ������ �
� !�
�0�� �� ���-

����� �
� ���>������ �
 ��

��� �� 
��
�� �
 ��!���R�
� ��
 ��
�������

 ���

��
 !�+�

�
 ��
�����
 ��
 ��
�������

 ��2���
��
 �S ��
 ��
�������

 ��-

����

�
� ���� �� ��
��
�� �� ���
�� 	��, �,�!���
 �� 1����
 ��

�-��
 
�
�

�����
�
��
 ��

 �� 1���� .C�D/
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�
 1���� ��

�-����� )�� 
� ���

� ��

�� )�� ��
 �����
 ���)��
��
� ����

����
 A��� ��

����� ��!!� �� ��>���
�� �
��� �� ��
����
 ����� �� �
 1����

��

� ��
� *� ��
����� �� �� ������ ���� ��
 �,�!���
 �� �� 1���� C�D �
�

�����
�
�� ��

 �� 1���� C�7�
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������ C�7 Q ���	��� ���������	 ���
���� " �� )'��� M��

#�#�� ��	����	����'��� ��� ����	�� � ��������� �� &	���2

"�	� �� �� !$���

 ��
 ���

 �� �
 ������
� ���
��+
� �� ������� )���� ����� ��

���� �� ��-

��!��
�� �
 
��
�� �
 
�!!� �� 
�
�
�P����
 �� �� ��
�
�
�P����
� N
 ����
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�
 )�� � !����� �� ����, �� �� �+�� �� ����!��
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���
 �� �����!�
� �������
 �����
�����
 ��!!� ��� �,�!��� ��
 �
��������



�
 ��
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 �� 
��� �� �
 ���
���,� *� ���
�
 �
� )���
� ��������� �!�����
��

��
 ��
����

 
�
�
 �� ��
�
�
 �
� )������
 
� 
�
� )�� ��0
 ��� �������
 ���

��
 
+
�0!�
 ��
�����
� �
 �>��� ��!!� 
��
 ����

 �� ����� ������������
 ���


1���� ��
����� � �
� ��!��
�
�� 
�
�
�P���� ������� �
 
����� �
� ��!��
�
��


�
�
�P���� �� !A!� ���)��
��� �����
 ���!������� �� �� ���
� 
���
� !���-

1��
 �� ��
 !���1�����

 �����
� �� �� ���� A��� �����
��
 ���� ���������
�� ��

!�
�0�� ���
���)�� ��
 1����
 ��
�����
�

"�

�����

 �������
 ���
 1���� 
�� ���,��
�
������ ��!���,� �

����� � ��

���)��
�� ω 9

h
(
eiωt

)
=

∞∑
τ=−∞

φτe
iω(t−τ)

= eiωt
∞∑

τ=−∞
φτe

−iωτ

= eiωtAω.

#�

�� ������������
 �� 1���� �����
� ��

 �� ��
 � !��������� �� 
��
�� ���
-

���� ��� �
� ��

��
�� .��!���,�/� �� 
�+ � ��
� ��
 �� !���1�����
 ��

���)��
�� !��
 
����
 ���!������� �� �� ���
� ���
��
�� ���
 �����
�!�
�� �


���� ���������� �� ��
����
 A(ω)� ������� $
��	�
� �� ���
��� �� $��������

�� )�	��� 
��
 �� ���!� 9

A(ω) =

∞∑
τ=−∞

φτe
iωτ =

∞∑
τ=−∞

φτ cos ωτ − i

∞∑
τ=−∞

φτ sin ωτ

= A1(ω) − iA2(ω),

�� �
���� 
��
 ���!� ������� 9

A(ω) = G(ω)eiθ(ω),
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�������
 �� ���� �
 ����


�S �� !����� G(ω) �
� ��

� ��� 9

G(ω) =
√

A1(ω)2 + A2(ω)2,

�� ������!�
� θ(ω) ��� 9

θ(ω) = arctan
A1(ω)

A2(ω)
.

N
 � ��� ��

�)��
� 9

h
(
eiωt

)
= G(ω)ei(ωt+θ(ω)).

*��>�� �� 1���� �
� ��
� �����
�!�
� �� !���1�� ���!������� ���
 �������

G(ω) ������ $
��	�
� �� 	����$��	 �� )�	��� �� ���
��!�
� �� ���
� ���
�

��

� ��� �� $
��	�
� �� ����� �� )�	�� θ(ω)� �
 1���� ��

�-��
 
��� ��

�

���������
� ��� �
� ��
����
 �� ���

���� ������ ���� ��
 ��

�
 ���)��
��
 ��

������ ���� ��
 �����
 ���)��
��
�

#�#�# �1�	������ �� �� ���������� �� �+���� � �� ��2

�$��� �� !���	���

	�

 ���
��+
� �!����)�� ��
 �+���
� �
� ���!�0�� ��M����� 
�����
� ��

���� �� �� ��1
����
 !A!� �� �+���
� �
 �>��� 
� �� ������� ��
 
����
 ���
�-

!�)��
 �����
� A��� ���
 ��!!� �� 2�,����
����
 ���
� ��
��
�� �� ���
�

��!��
�
�� �+���)�� ������ �� ����� ��
��
��� ��
 ���, ���!�
�
 
� 
�
� ��


�������!�
� ��
�������
� 	� ���
� �� !�
�0�� ��
� �� ����!��
����
 ���
� 
�-

��� �
 ��
��
�� �� �+��� �
� �>������ 
��
� ��
 
����� �� ������������
 ���


1���� � �
� 
���� ���� �
���&
�� ��
 ��
������

 �����
 )�� �����������
 �� �+���


���������,� "� ���������� ��
� ��

� � ���
�
��� �
� !������� �����
�� ���

�����
�
 .5HHH�/� ���!����
� �� !�
���� ���>�� ��
���
�� ��
 1����
 ��� ���

Q 666 Q



������
 
�������
 �� ���� �
 ����


�� !A!�� �� 
�������

�� �� ��
����� ����!�� �� 
��
 ���
� ��!���� �� 1����


�!�������
�

*� ���
���� 
�� ��)��� ����
� �� !������ �� �����
�
 �
� �����������
 �� ��

��
��
�� �
��� �� ��!��
�
�� �+���)�� ����
�� � ������ ���
 1���� �����������

�� ����� ��
����
� �� ������������
 ���
 1���� ������ ���
� � ���� 
��
���
�
�

����
� ��
������
� #1
 �� !���, ���
�� ����� ����� ��

�����

 �
� 
����

���
�!�)�� yt� t = 1 . . . T �� 
� ����!��
����
 9

yt = τt + ct, .C�D6/

�S τt �� ct ��
��
�
� ��
�������!�
� ��
 ��!��
�
��
 �� ��
��
�� �� �� �+���
�

	�� �����!�
�� τt �����
��
� ��, ��!��
�
��
 �� �� 
���� �� ���)��
�� �
-

�������� � �
 
���� �����1
� ωl� �� ct 
+
�����
� ��
 ���)��
��
 ��-���� �� ��


����� �,������ �� ��!��
�
�� �� �+���
 ���
� 
���� ���
�!�)�� 
����
� ���

��

�)��
� 9

5� �� �����!�
����
 �� �� ���)��
�� �� 
���� ��-���� �� ��)����� ��
 L�����-

���

 
�
� ��

������
 ��!!� ��
 �+���
 ���
�!�)��
� *������
����
 ���


1���� �����!�
� �� !�
�0�� ����!��� ���!�� �� 
��>��
���� �� ������-

������ ��

�
��
� � 1,�� �� 
���� 
���
 �
� ���� � ���
�� �� 
� ������� X ��

�����
� �����
�
 ����

��0�� ��

 �
 ����� ������� .�����
�
� 5HHI/� ��

!�
�0�� ��
� ��
 ���
�!�
��
 �
� 2�
)��� ���
�
� �>����� ����� ����!-

��
����
� �
 �>��� �����
 �� �������
 �� ������� �� '��

 �� ��������

.5HC7/� �
 ����� ��

�

�
 
��
� ������ ���!� ��
 ���
�!�
��
 ���� 1,��

�����,�!�����!�
� �� 
���� � ���� �

��
� ��

�

�
 )��� 
���
 ���������


�������
�� � �
 !+���� 
�
 ���+� ��� ��
 ����
 �!����)��
�

6� ������������
 ���
 1���� ��

�-���� )�� �,����� ��
 ��!��
�
��
 �� ���-

)��
�� 
��������� �� 
���� ωl �� ���)�� ��
 ��

�
 ���)��
��
� 	�

 ��

�����)��� 
��
!��

� ���, �>��
 �
��
������
 
�
� �
��������
� 	��
�
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����� ��
 ���)��
��
 ������
� )�� �
���
� ��

 �� �����!�
����
 �� �� ��
-

��
��� 
� �����
� A��� ��!��0��!�
� ���!�
��
 .���
�!0
� �� �����


�� ���)��
��
/� 	������ ����� ��
 ��!��
�
��
 �� ���)��
��
 ������
 
�
�

����
���
 �� ���
�
��� �� �� ���)��
�� �� 
���� .��!���

��
/� "�!!�

�� 
���� �� �� !�
����� �� ������0�� �����)�� �� ��
 ���, �>��
 ����
�

��
 ���������
 �� �� 
���� 1������

*������ �� �� ��
����
 �� ����

� �
 ���)��
��
� ��� �� !�
�0�� �)������
���

�� �� ��
����
 �� ���

���� ���
 1���� ���!�� �� ���
 !����� �
 �����
�� ��

��
��
�� )�� �� 
����� ���
 1���� ������ X ����� ���,�!��� ��

�����

 �� 1����

C�G )�� �����
�
�� ��
 ��
����

 �� ���

���� ��
�������
 ���
 1���� ��

�-����

����� �� �� 1���� �� ;�����(-���
���� ���� �
� ������ �� 1600 �� ����!0���

λ�
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Compression

Fuite

������ C�G9 �>��
 �� ����� �� �� ��!���

��


*� ��
����
 �� ���

���� ���
 1���� ��

�-���� ����� �
� ��1
�� ��� 9

H(ω) =

⎧⎨⎩ 0, |ω| < ωl

1, |ω| ≥ ωl.
.C�DE/
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 ��+�

 
�� �� 1���� )�� ��
 ��
����

 �� ���

���� ��
 ���, 1����


��>0��
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�
������!�
� �� ���
�
��� �� �� ���)��
�� �� 
����� X ������ ��

Q 66C Q



������
 
�������
 �� ���� �
 ����


����� ���)��
��� �� ��
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 �� ���

����� )�� ������� A��� 
����� �
� ��
�����

���� �� 1���� ��;�����( �� ���
����� ������
�
� ���>�� �� ����� �������!!�
�

���)��� X ������� ���� �
� �
������� � 1 �� ��
 ��!��
�
��
 �� ���)��
�� ������

�� 
���� 
�
� ����
���
�

 ��
!��

� ��
 ���
�!0
�
 �� ����� �� �� ��!���

��
 
� �����
� ��
 
�-

��

����!�
� � ��

�)��
��� �
 �>��� 
� �� �����
�� �� �� 
���� ������� ��-

��
� ��0
 ������!�
� ��
 ���)��
��
 ������
 �� 
����� ��
 �>��
 �� ����� �� ��

��!���

��
 
������)����
� � ��
 ��!��
�
��
 
����������
 �� �� 
����� "��
�

����)���� �����
�
 �����
� ��!!� !�
��� �� ���>�� ��
���
�� ���
 1���� �
�

���
���� )�� �
�0��� �,�������!�
� ��
 ���������
 
��������
 �� �� 
���� 1����� 9

Q =
∑
ω∈W

|H(ω) − H∗(ω)|.2.Sy(ω).∆ω, .C�DC/

�S H(ω)� H∗(ω) ��
��
�
� ��
�������!�
� ��
 ��
����

 �� ���

���� �� 1����

������ �� �� 1���� ������ Sy(w) �����
�
�� �� ��
����
 �� ��

��� 
�������� ��

�����

�
 ������ �� W �
� �
 �

�!��� ��
���� �� ���)��
��
 ������0��!�
�

�
�����
 ��!���
�
 �
��� 0 �� π�
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c(ω) = H(ω).2.Sy(ω). .C�DD/
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ct = arg min
τt

T∑
t=1

(yt − τt)
2

s.c.

T−1∑
t=2

[(τt+1 − τt) − (τt − τt−1)]
2 ≤ µ.
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